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HIT THE BULL’S EYE 

TEST XXXIII PREMODEL VI 
(INDIAN POLITY, GENERAL KNOWLEDGE I, APTITUDE AND MENTAL ABILITY) 

 
1. India was described as Land of „unity and diversity‟ by whom and where 

a. Rabindranath Tagore in Gitanjali 
b. Mahatma Gandhi in „My Experiments with Truth‟ 
c. Jawaharlal Nehru in „Discovery of India‟ 
d. Subash Chandra Bose in „An Indian Pilgrim‟ 
e. Answer not known 
,e;jpah "Ntw;Wikapy; xw;Wik fhZk; ehL" vd vq;F ahuhy; 
tUzpf;fg;gl;lJ? 
a. utPe;jpuehj jh$h; jkJ fPjhQ;rypapy;  
b. kfhj;kh fhe;jp jkJ "rj;jpa Nrhjidapy;  
c. [tfh;yhy; NeU jkJ "b];fthpd; Mg; ,e;jpah tpy;  
d. Rgh~; re;jpuNgh]; jkJ "xU ,e;jpag; Gdpjg; gazk;"  
e. tpil njhpatpy;iy 

 
2. Choose the correct statements regarding Dr. B.R. Ambedkar  

1. He was the chairman of drafting committee of constituent assembly. 
2. He played important role in creation of RBI 
3. He participated in all the three Round Table Conferences. 
4. He was independent India‟s First Law minister. 
5. He was awarded Bharat Ratna Posthumously in 1990. 
a. 1, 4 and 5 only  b. 1, 2, 4 and 5 only  c. 1, 3, 4 and 5 only  
d. All the above  e. Answer not known 
fPo;f;fz;l thf;fpaq;fspy; Dr. B.R. mk;Ngj;fh; gw;wp rhpahdtw;iwj; Njh;e;njL  
1. murpay; mikg;G rl;l tiuTf; fkpl;bapd; jiyth;  
2. ,e;jpa hprh;t; tq;fpia cUthf;Ftjpy; ngUk;gq;F tfpj;jth;  
3. %d;W tl;lNkir khehl;bYk; gq;Nfw;wth;  
4. Rje;jpu ,e;jpahtpd; Kjy; rl;l mikr;rh;  
5. mtUf;F ,wg;Gf;Fg;gpd; 1990 y; ghujuj;dh tpUJ toq;fg;gl;lJ 
a. 1> 4 kw;Wk; 5 kl;Lk; b. 1> 2> 4 kw;Wk; 5  c. 1> 3. 4 kw;Wk; 5 
kl;Lk; 
d. Nkw;$wpa midj;Jk; e. tpil njhpatpy;iy 
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3. Match the following  
Article   Provisions 
A. 14 1. discrimination against citizen on ground of religion, race, caste, 

sex, place of birth or any of them is not permitted 
B. 15 (1)  2. right to life 
 
C. 17  3. abolition of untouchability 
D. 21  4. equality before law 
 A B C D 
a. 3 4 2 1 
b. 4 1 3 2 
c. 1 2 4 3 
d. 2 3 1 4 
e. Answer not known 
nghUj;Jf:  
 gphpT    ~uj;Jf;fs;  
A. 14 1. ,d> khj> rhjp gpwg;gplk; Nghd;w fhuzq;fshy; ghugl;rk; 

fhl;Ljy; $lhJ   
B. 15(1) 2. thOk; chpik 
C. 17  3. jPz;lhik xopg;G  
D. 21   4. rl;lj;jpd; Kd; midtUk; rkk;  
 A B C D 
a. 3 4 2 1 
b. 4 1 3 2 
c. 1 2 4 3 
d. 2 3 1 4 
e. tpil njhpatpy;iy 

 

4. National pledge was written by and in what language 
a. Pingali Venkayya, Andhrapradesh - Telugu 
b. Sarojini Naidu    - Hindi 
c. Pydimarri Venkata Subbarao  - Telugu 
d. Potti Sriramulu    - Telugu 
e. Answer not known 
Njrpa cWjpnkhop ahuhy;> ve;j nkhopapy; vOjg;gl;lJ 
a. gpq;fsp ntq;ifa> Me;jpugpuNjrk;  - njYq;F  
b. rNuh[pdp ehAL    - `pe;jp  
c. gpjpkhhp ntq;fl Rg;ghuht;   - njYq;F  
d. nghl;b =uhKY    - njYq;F  
e. tpil njhpatpy;iy 

 

5. Match following with correct option. 
A. National Anthem 1. 29 August, 1947 
B. Emblem   2. 22 March 1957 
C. Drafting Committee 3.26 January 1950 
D. Calendar   4. 24 January 1950 
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 A B C D 
a. 1 2 4 3 
b. 4 3 2 1 
c. 1 2 3 4 
d. 4 3 1 2 
e. Answer not known 
nghUj;Jf:  
A. Njrpa fPjk;  1. 29 Mf];l;> 1947 
B. rpd;dk;   2. 22 khh;r; 1957 
C. tiuTf; FO  3. 26 [dthp> 1950  
D. ehl;fhl;b    4. 24 [dthp 1950  
 A B C D 
a. 1 2 4 3 
b. 4 3 2 1 
c. 1 2 3 4 
d. 4 3 1 2 
e. tpil njhpatpy;iy 

 
6. How many women members and total members were there in the constituent 

assembly? 
a. 18 and 389  b. 15 and 300    c. 15 and 389   
d. 18 and 300  e. Answer not known 
murpay; epu;za rigapy; ,Ue;j ngz; cWg;gpdu; kw;Wk; nkhj;j cWg;gpdu; 
vz;zpf;if ahJ? 
a. 18 kw;Wk; 389  b. 15 kw;Wk; 300   c. 15 kw;Wk; 389  
d. 18 kw;Wk; 300  e. tpil njhpatpy;iy 

 

7. What are conditions to form a political party. 
a. Register with Election Commission of India. 
b. Must have atleast 100 members. 
c. should have a party constitution 
d. All the above 
e. Answer not known 
xU murpay; fl;rpia cUthf;f> ,Uf;f Ntz;ba fl;lhakhd tpjpfs; ahit?  
a. ,e;jpa Njh;jy; Mizaj;jpy; gjpT nra;a Ntz;Lk;  
b. Fiwe;j gl;rk; 100 cWg;gpdh;fs; ,Uf;f Ntz;Lk;  
c. fl;rpf;F rl;ljpl;lq;fs; ,Uf;f Ntz;Lk;  
d. Nkw;$wpa midj;Jk;  
e. tpil njhpatpy;iy 

 

8. Term of Legislative council of state and minimum age requirement is 
a. 5 years and 25 years b. 6 years and 30 years c. 5 years and 30 years 
d. 6 year and 35 year e. Answer not known 
khepy rl;l Nkyit cWg;gpdh;fspd; gjtpf;fhyk; kw;Wk; taJ tuk;G vd;d?  
a. 5 / 25 Mz;Lfs;  b. 6/30 Mz;Lfs;   c. 5/30 Mz;Lfs;  
d. 6/35 Mz;Lfs;   e. tpil njhpatpy;iy 
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9. Age of retirement of High court Judges is 
a. 65 years  b. 60 years    c. 63 years   
d. 62 years  e. Answer not known 
cah; ePjp kd;w ePjpgjpfspd; gzp xa;T ngWk; taJ vd;d?  
a. 65 Mz;Lfs; b. 60 Mz;Lfs;    c. 63 Mz;Lfs;  
d. 62 Mz;Lfs;  e. tpil njhpatpy;iy 
 

10. Correct statements are 
1. NOTA option was introduced all over India in the seventeenth Loksabha 

elections (2019) 
2. It gives right to reject all candidates. 
3.  It gives right not to vote in elections secretly 
4. NOTA option has symbol of crossed ballot paper or word NOTA in Bold. 
5. Procedure for NOTA is mentioned in Rule 49-0 of Representation of people 

act 1950. 
a. 2 only   b. 3 and 4 only   c. 1, 2 and 3 only 
d. 1, 2, 3, 4 and 5  e. Answer not known 
rhpahd $w;Wfis Muha;f.  
1. 17tJ kf;fsitj; Njh;jypy; (2019) NOTA vDk; tpUg;gkhdJ ,e;jpah 

KOtjw;Fk; mwpKfg;gLj;jg;gl;lJ.  
2. ,J midj;J Ntl;ghsh;fisAk; epuhfhpf;Fk; chpikia toq;FfpwJ.  
3. ,J Njh;jy;fspy; thf;fspf;fhky; ,Uf;Fk; chpikia ufrpakhf 

toq;FfpwJ.  
4. NOTA vDk; Njh;tpd; FwpaPlhdJ ngUf;fy; Fwp (m) jbj;j NOTA vDk; 

thh;j;ijiaf; nfhz;bUf;Fk;  
5. kf;fs; gpujpepjpj;Jtr; rl;lk; 1950-y; tpjp 49-0 y; NOTA-d; eilKiwfs; 

Fwpg;gplg;gl;Ls;sd 
a. 2 kl;Lk;   b. 3 kw;Wk; 4   c. 1, 2 kw;Wk; 3 kl;Lk;   
d. 1, 2, 3, 4, kw;Wk; 5   e. tpil njhpatpy;iy 
 

11. Choose the correct statements. 
1. VVPAT was made indispensible by Supreme Court Judgement in 

Subramanya Swamy vs Election Commission of India case. 
2. VVPAT was introduced all over country in sixteenth Lok Sabha elections 

(2014) 
a. 1 only   b. 2 only   c. Both 1 and 2 
d. None of the above e. Answer not known 
rhpahd $w;Wfisf; fz;lwpf 
1. Rg;gpukzpa Rthkp vjph; ,e;jpa Njh;jy; Miza tof;fpy; VVPAT MdJ 

jtph;f;f Kbahj mk;rkhf cr;rePjpkd;w jPh;g;gpy; cWjp nra;ag;gl;Ls;sJ.  
2. 16 tJ kf;fsitj; Njh;jy;fs; (2014) y; VVPAT MdJ ,e;jpah 

KOikf;Fk; mwpKfg;gLj;jg;gl;lJ.  
a. 1 kl;Lk;   b. 2 kl;Lk;    c. 1 kw;Wk; 2 kl;Lk;  
d. Nkw;fz;l vJTkpy;iy  e. tpil njhpatpy;iy 
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12. Which of the following are characteristics of Indian democracy? 
I. Universal Adult Franchise. 
II. People Exercise Decision making power directly. 
III. Absence of Discrimination on certain grounds. 
IV. Independence of Judiciary 
a. I only  b. I, III, IV only   c. II and III only  
d. All the above e. Answer not known 
gpd;tUtdtw;Ws; ,e;jpa [dehafj;jpd; mk;rq;fs; vit?  
I. taJ te;Njhh; thf;Fhpik  
II. kf;fs; Neubahf KbntLf;Fk; mjpfhuj;jpy; cs;sdh; 
III. rpy Fwpg;gpl;l tptfhuq;fspy; ghFghbd;ik epyTfpwJ. 
IV. ePjpj;Jiwapd; Rje;jpuk;  
a. I kl;Lk;  b. I, III, IV kl;Lk;    c. II kw;Wk; III kl;Lk;  
d. midj;Jk;  e. tpil njhpatpy;iy 
 

13. Which of the following are correctly matched pair. 
I. Maintenance and welfare of Parents and Senior citizen Act – 2007 
II. Right to education Act – 2005 
III. Right to information Act – 2009 
IV. Protection of Children from sexual offences Act – 2012 
a. I and IV only  b. II and III only  c. None of the above 
d. All the above  e. Answer not known 
gpd;tUdtw;Ws; rhpahfg; nghUe;jpAs;s ,iz vJ? 
I. %j;j Fbkf;fs; kw;Wk; ngw;Nwhh; eyd;fs; guhkhpg;Gr; rl;lk; - 2007 
II. fy;tp chpikr; rl;lk; - 2005 
III. jfty; chpikr; rl;lk; - 2009 
IV. ghypay; Fw;wq;fspypUe;J Foe;ijfisg; ghJfhf;Fk; rl;lk; - 2012 
a. I kw;Wk; IV kl;Lk; b. II kw;Wk; III kl;Lk;  c. Nkw;fz;l vJTkpy;iy  
d. Nkw;fz;l midj;Jk;  e. tpil njhpatpy;iy 

 

14. The parliament house in India was designed by 
a. Le Corbusier and Albert Mayer 
b. Edwin Lutyens and Herbert Baker 
c. Matthew Nowicki and Thomas Munro 
d. Ludwig Mies and Frank Wright. 
e. Answer not known 
,e;jpa ghuhSkd;w mitahdJ ahuhy; tbtikf;fg;gl;lJ.  
a. yP fhh;g~pah; kw;Wk; My;gpul; Nkah;  
b. vl;tpd; Yl;bad;]; kw;Wk; n`h;gh;l; Ngf;fh;  
c. khj;A+t; Nehtpf; kw;Wk; jhk]; kd;Nwh  
d. Yj;tpf; kP]; kw;Wk; g;uhd;f; iul;  
e. tpil njhpatpy;iy 

 

15. Provisions regarding electoral system is mentioned under Article 324 to 329 in 
a. Part XV  b. Part XX   c. Part XVIII   
d. Part XXII  e. Answer not known 
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rl;lf;$W 324 - 329 d; fPo; Fwpg;gplg;gLk; Njh;jy; Kiwapd; mk;rq;fs; 
mlq;FtJ _______. 
a. gFjp XV  b. gFjp XX   c. gFjp XVIII  
d. gFjp XXII e. tpil njhpatpy;iy 
 

16. Electoral college of President consists of 
I. elected members of both houses of Parliament 
II. elected members of state legislative assemblies and union territories. 
III. nominated members of both houses of Parliament. 
IV. Nominated members of state legislative assembles and union territories. 
a. I and III only  b. I and II only  c. I, II, III only  
d. All the above  e. Answer not known 
FbauRj; jiytiuj; Njh;T nra;Ak; thf;fhsh; FOthdJ  
I. ghuhSkd;w ,U mitapd; Njh;T nra;ag;gl;l cWg;gpdh;fs;  
II. khepy rl;lkd;wk; (k) A+dpad; gpuNjrq;fspd; Njh;T nra;ag;gl;l 
cWg;gpdh;fs;  
III. ghuhSkd;w ,U mitapd; epakd cWg;gpdh;fs;  
IV. khepy rl;lkd;wk; (k) A+dpad; gpuNjrq;fspd; epakd cWg;gpdh;fs;  
a. I kw;Wk; III kl;Lk;  b. I kw;Wk; II kl;Lk;  c. I, II, III kl;Lk;  
d. midj;Jk;   e. tpil njhpatpy;iy 

 
17. Consider the following statements and choose correct option. 

Assertion (A) : In 1989, President appointed 2 more election Commissioners 
making Election commission of India as a 3 member body for first time 
Reason (R) : 61st constitutional Amendment Act, 1988 reduced voting age from 
21 to 18 years. 
a. Both A and R are correct and R is correct explanation for A. 
b. Both A and R are correct and R is not explanation for A 
c. A is true, R is false 
d. A is false, R is true 
e. Answer not known 
gpd;tUk; $w;Wfisf; fUJf.  
$w;W (A) : 1989-y; FbauRj; jiytuhy; NkYk; 2 Njh;jy; Mizah;fs;  
epakpf;fg;gl;ljd; %yk; ,e;jpa Njh;jy; MizakhdJ Kjd; Kjyhf 3 
cWg;gpdh; nfhz;l mikg;ghdJ  
fhuzk; (R): 61tJ murpayikg;Gj; jpUj;jr; rl;lk; 1988-d; gb thf;fspf;Fk; 
tajhdJ 21 ypUe;J 18 Mff; Fiwf;fg;gl;lJ.  
a. (A) kw;Wk; (R) rhp NkYk; (R) vd;gJ rhpahd tpsf;fkhFk;  
b. (A) kw;Wk; (R) rhp NkYk; (R) vd;gJ rhpahd tpsf;fky;y  
c. (A) rhp (R) jtwhdJ 
d. (A) jtW> (R) rhpahdJ  
e. tpil njhpatpy;iy 
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18. Rights to freedom under Article 19 guarantees. 
1. Freedom of speech and expression. 
2. To assemble peacefully without arms. 
3. To form association and unions. 
4. To reside and settle in any part of the world. 
5. To move freely through out the world. 
6. To practise any profession, trade or business 
7. To acquire, hold and dispose property. 
a. 1, 2, 3, 4, 6 and 7  b. 1, 2, 3, 6 and 7   c. 1, 2, 3 and 6 
only 
d. All the above  e. Answer not known 
ruj;J 19 cWjpaspf;Fk; Rje;jpu chpikfshtd  
1. fUj;J kw;Wk; Ngr;Rf;fhd Rje;jpuk; 
2. mikjpahf MAjkpd;wp $Lk; chpik  
3. rq;fq;fis mikf;Fk; chpik 
4. cyfpd; ve;j gFjpf;Fk; nrd;W trpf;Fk; chpik  
5. cyfk; KOtJk; Rje;jpukhf elkhLk; chpik  
6. ve;j njhopiyAk;> tzpfj;ijAk; nra;Ak; chpik  
7 nrhj;Jf;fspd; kPjhd thq;Fk;> ngWk; kw;Wk; tpw;Fk; chpikfs;  
a. 1,2,3, 4, 6 kw;Wk; 7 b. 1, 2, 3, 6 kw;Wk; 7  c. 1, 2, 3 kw;Wk; 6 kl;Lk; 
d. Nkw;$wpa midj;Jk;  e. tpil njhpatpy;iy 

 
19. Consider reservation in Tamil Nadu 

1. State Provides 68% reservation to SC/ST, MBC/DNC & BC 
2. 30% to BC, 20% to MBC/DNC, 18% to SC and 1% to ST  
3. 30% is reserved for women. 
4. 4% for differently abled. 
5. 20% for person studied in Tamil medium. 
6. Transgender are included in Backward class. 
Correct statements are 
a. 2, 3, 4, 5 and 6  b. 2, 3, 4 and 5  c. 1, 2, 3, 4 and 5  
d. All the above  e. Answer not known 
jkpo;ehl;bYs;s ,l xJf;fPl;bidf; fUJf.  
1. SC/ST, MBC / DNC & BC f;F 51% ,lxJf;fPl;bid khepy muR 

toq;FfpwJ.  
2. BC f;F 30%, MBC / DNC f;F 20%, SC f;F 18% kw;Wk; ST f;F 1%  
3. ngz;fSf;fhd ,l xJf;fPL 30% MFk;  
4. khw;Wj;jpwdhspfSf;F 4% xJf;fPlhFk;  
5. jkpo; topapy; gbj;jth;fSf;F 20% xJf;fPlhFk;  
6. jpUeq;iffs; gpw;gLj;jg;gl;Nlhh; tFg;gpy; ,izf;fg;gl;Ls;sdh; 

  rhpahd $w;Wfshtd:  
 a. 2, 3, 4, 5 kw;Wk; 6  b. 2, 3, 4 kw;Wk; 5  c. 1, 2, 3, 4 kw;Wk; 5  

d. Nkw;$wpa midj;Jk;  e. tpil njhpatpy;iy 
 
20. Under RTI, information must be provided within. 

a. 60 days  b. 90 days   c. 30 days   
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d. 15 days  e. Answer not known 
RTI rl;lj;jpd; fPo; _______ f;Fs; jfty; toq;fg;gl Ntz;Lk;?  
a. 60 ehl;fs;  b. 90 ehl;fs;   c. 30 ehl;fs;   
d. 15 ehl;fs;   e. tpil njhpatpy;iy 

 
21. Child line is India‟s first 24 hours free emergency Phone service for children in 

need of assistance Number is 
a. 181  b. 1098 c. 1091  d. 121  e. Answer not known 
cjtp Njitg;gLk; Foe;ijfSf;fhd ,e;jpahtpd; Kjy; 24 kzp Neu 
fl;lzkpy;yh mtru njhiy njhlh;G Nrit cjtp ika vz; ______ MFk;.  
a. 181  b. 1098 c. 1091  d. 121  e. tpil njhpatpy;iy 

 
22. Consider Articles under 73rd constitutional Amendment Act 1992. 

A. Article 243 A  1. Gram Sabha 
B. Article 243 D  2. Reservation of seats 
C. Article 243 I  3. State Finance Commission 
D. Article 243 K  4. State Election Commission 
 A B C D 
a. 1 2 3 4 
b. 1 3 2 4 
c. 1 2 4 3 
d. 2 1 3 4 
e. Answer not known 
73tJ murpayikg;Gj; jpUj;jr; rl;lk; 1992-d; ruj;Jfisf; fUJf.  
A. rl;lf;$W 243 A  1. fpuhk rgh 
B. rl;lf;$W 243 D  2. ,l xJf;fPl;L Kiw  
C. rl;lf;$W 243 I  3. khepy epjpf;FO  
D. rl;lf;$W 243 K  4. khepy Njh;jy; Mizak;  
 A B C D 
a. 1 2 3 4 
b. 1 3 2 4 
c. 1 2 4 3 
d. 2 1 3 4 
e. tpil njhpatpy;iy 

 
23. Utiramerur inscriptions mentions the local self government during the period 

of _______ King 
a. Raja Raja Cholan  b. Rajendra Cholan  c. Parantaka Cholan 
d. Sundara Pandiyan e. Answer not known 
cj;jpuNk&h; fy;ntl;by; ________ kd;ddpd; cs;shl;rp murhq;fq;fs; 
Fwpg;gplg;gl;Ls;sd.  
a. uh[ uh[ Nrhod;  b. uhN[e;jpu Nrhod;  c. guhe;jf Nrhod;   
d. Re;ju ghz;bad;  e. tpil njhpatpy;iy 
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24. Which of following days, Gram Sabha holds compulsory meetings? 
1. January 26   2. April 14  3. May 1 
4. August 15   5. October 2 
a. 1, 2, 3 and 4 only  b. 1, 2, 4 and 5 only   c. 1, 3, 4 and 5 only  
d. All the above  e. Answer not known 
gpd;tUtdtw;Ws; fpuhk rigapd; fl;lha $l;lq;fs; eilngWk; ehl;fs; vit? 
1. [dthp> 26   2. Vg;uy; 14  3. Nk> 1 
4. Mf];L> 15   5. mf;Nlhgh;> 2  
a. 1, 2, 3 kw;Wk; 4 kl;Lk; b. 1, 2, 4 kw;Wk; 5 kl;Lk;  c. 1, 3, 4 kw;Wk; 5 kl;Lk; 
d. midj;Jk;   e. tpil njhpatpy;iy 
 

25. Consider the following statements 
I. Periyar E.V. Ramasamy became chairman of Erode Municipality in 1917 
II. Piped water supply implemented in 1919 was first of kind in history of 

Indian Municipal Administration 
a. I is correct    b. II is correct 
c. Both statements are correct d. None of statement is correct 
e. Answer not known 
gpd;tUk; $w;Wfis Ma;f 
I. 1917 y; nghpahh; <.nt.uhkrhkp <NuhL efuhl;rpapd; jiytuhdhh;.  
II. ,e;jpa efuhl;rp eph;thf tuyhw;wpy; 1919-y; Kjy; Kiwahf Foha; %yk; 

FbePh; tpepNahfk; mwpKfkhdJ  
a. $w;W I rhp   b. $w;W II rhp   c. ,uz;Lk; rhp  
d. vJTk; rhpay;y    e. tpil njhpatpy;iy   

 
26. Match the following with correct options. 

A. Provincial autonomy   1. 1919 
B. TN Panchayats Act   2. 1935 
C. 73rd and 74th Amendment   3. 1992 
D. Diarchy of Provinces   4. 1994 
 A B C D 
a. 1 3 2 4 
b. 2 4 3 1 
c. 3 1 4 2 
d. 4 2 1 3 
e. Answer not known 
nghUj;Jf: 
A. khfhz Rahl;rp    1. 1919  
B. jkpo;ehL gQ;rhaj;Jfs; rl;lk;  2. 1935 
C. 73tJ (k) 74tJ jpUj;jk;  3. 1992 
D. khfhzj;jpy; ,ul;ilahl;rp   4. 1994 
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 A B C D 
a. 1 3 2 4 
b. 2 4 3 1 
c. 3 1 4 2 
d. 4 2 1 3 
e. tpil njhpatpy;iy 
 

27. Consider following statements.  
I. Citizenship act 1955 provides for acquisition and loss of citizenship after 

commencement of the constitution.  
II. Constitution under Articles 5 to 11 provides for acquisition and loss of 

citizenship after its commencement.  
The correct statements are  
a. I only    b. II only    c. Both I and II  
d. None of the above  e. Answer not known 
fPo;f;nfhLj;Js;s jfty;fSs; rhpahdtw;iw Fwpg;gplTk;.  
I. FbAhpikr; rl;lk; 1955> FbAhpik ngWjy; / ,oj;jy; Mfpait 

murpay; mikg;Gr; rl;l mkYf;Fg;gpd;> eilKiwf;F te;Js;sJ.  
II. FbAhpik ngWjy; / ePf;fy; Mfpait gw;wpa nray;Kiw murpay; 

mikg;Gr; rl;lk; ruj;J 5-11y; nfhLf;fg;gl;Ls;sJ.  
a. 1 kl;Lk;   b. II kl;Lk;   c. I kw;Wk; II 
d. VJTkpy;iy   e. tpil njhpatpy;iy 
 

28. Consider following statements: 
I. Tamilnadu Government in 1969 appointed committee under PV 

Rajamannar to examine centre state relations. 
II. Tamil Nadu government in 1983 appointed Sarkaria commission to 

enquire centre state relation.  
Correct statement is /are  
a. I only    b. II only   c. Both I and II  
d. None of the above  e. Answer not known 
gpd;tUtdtw;Ws; rhpahdij Njh;e;njLj;J FwpaplTk;  
I. jkpof muR> P.V. uh[kd;dhh; jiyikapy; xU FO mikj;J> 1969y;  
   kj;jpa  
   khepy muRfSf;F ,ilapyhd cwT gw;wp ghprPyid nra;jJ 
II. jkpof muR> 1983y;> kj;jpa khepy muR ,ilapyhd cwT gw;wp  
   tprhuizf;fhf> rh;f;fhhpah fkp~id epWtpaJ.  
a. I kl;Lk;   b. II kl;Lk;   c. I kw;Wk; II  
d. ,it VJkpy;iy  e. tpil njhpatpy;iy 
 

29. Arrange sequence in preamble  
a. Republic, democratic, secular, socialist, sovereign 
b. Sovereign, socialist, secular, republic, democratic  
c. Sovereign, republic, secular, socialist, democratic  
d. Sovereign, Socialist, secular, Democratic, Republic  
e. Answer not known 
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KfTiuapy; cs;s thpirf; fpukg;gb vOjTk; 
a. FbauR> kf;fshl;rp> kjr;rhh;gw;w> rkjh;k> ,iwahz;ik 
b. ,iwahz;ik> rkjh;k> kjr;rhh;gw;w> FbauR> kf;fshl;rp  
c. ,iwahz;ik> FbauR> kjr;rhh;gw;w> rkjh;k> kf;fshl;rp  
d. ,iwahz;ik> rkjh;k> kjr;rhh;gw;w> kf;fshl;rp> FbauR 
e. tpil njhpatpy;iy 
 

30. Which one of the following is not an instance of exercise of Fundamental 
rights? 
a. workers from Karnataka go to Kerala to work on farms 
b. Christian missionaries setup a chain of missionary schools.  
c. Men and women employees got same salary in government  
d. parents property inherited by children  
e. Answer not known 
fPo;f;fz;ltw;Ws; vJ mbg;gil chpik vd;w tiuaiuf;Fs; tuhJ?  
a. fh;ehlftpypUe;J> njhopyhsh;fs;> Nfusg; gz;izfspy; Ntiyf;Fg; 
Nghfyhk;.  
b. fpUj;Jtrigfs;> mth;fsJ rigf;fPo; njhlh; epiy gs;spfis 
mikf;fyhk;. 
c. muRg;gzpapy; Mz; / ngz; gzpahsh;fs; xNu Cjpak; ngWth; 
d. ngw;Nwhhpd; nrhj;J> gps;isfSf;Fr; NrUk;  
e. tpil njhpatpy;iy 
 

31. Commonwealth citizenship provided by citizenship Act (1955) was repealed by 
a. Citizenship (amendment) Act 2005  
b. Citizenship (Amendment) Act 2003 
c. Citizenship (Amendment) Act 2013 
d. citizenship (Amendment) Act 2015  
e. Answer not known 
fhkd;nty;j; FbAhpik 1955 Mz;L FbAhpikr; rl;lj;jpd; fPo; nfhLf;fg;gl;lJ. 
fPo;f;nfhLj;Js;s ve;j rl;lj; jpUj;jj;jpd; gb mJ ePf;fg;gl;lJ?  
a. FbAhpik jpUj;j rl;lk; 2005 
b. FbAhpik jpUj;j rl;lk; 2003  
c. FbAhpik jpUj;j rl;lk; 2013 
d. FbAhpik jpUj;j rl;lk; 2015  
e. tpil njhpatpy;iy 

 
32. Choose the correct statements regarding power of Rajya sabha.  

I. All Bills including money bill needs to be approved by Rajya Sabha. 
II. Same power as Loksabha while passing constitutional Amendment Bills. 
III. Impeach president, Judge of supreme court & high court  
IV. Power to authorise the creation of All India services  
V. Can authorise Loksabha (Parliament) to make a law on subject 

enumerated in state list.  
a. I and II only   b. II, III, IV and V   c. I, II and V only  
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d. All the above   e. Answer not known 
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uh[;arghtpd; mjpfhuk; Fwpj;j> fPo;f;nfhLf;fg;gl;Ls;s jfty;fspy; rhpahdij 
Njh;e;njLj;J vOjTk;.  
I. epjp rk;ge;jg;gl;l kw;Wk; midj;J kNrhjhf;fSk; uh[;arghtpd; xg;Gjy; 

ngwNtz;Lk;.  
II. murpay; mikg;G rl;l jpUj;jq;fs; gw;wpa kNrhjhf;fspy; kf;fisf;F 

,Ug;gJ Nghy; rk mjpfhuk; cz;L. 
III. FbauR jiyth;> cr;rePjpkd;w kw;Wk; cah;ePjpkd;w ePjpgjpfis ePf;Fk; 

mjpfhuk;  
IV. mfpy ,e;jpag;gzp cUthf;f mjpfhuk; cz;L  
V. khepy gl;baypy; cs;stw;wpy; rl;lkpaw;w> kf;fsitf;F mjpfhuk; 

mspj;jy;  
a. I kw;Wk; II kl;Lk;  b. II, III, IV kw;Wk; V  c. I, II kw;Wk; V  
d. Nkw;$wpa midj;Jk;  e. tpil njhpatpy;iy 

 

33. Choose the correct statements. 
I. Supreme court at Delhi was inaugurated on January 28 1950 
II. System of integrated Judiciary was followed from Government of India 

Act 1935 which established Federal court in 1937 
a. I only   b. II only    c. Both I and II   
d. None of above   e. Answer not known 
fPo;f;nfhLf;fg;gl;ltw;Ws; rhpahd tpiliaj; Njh;e;njLj;J vOJ.  
I. by;ypapy; cr;rePjpkd;wk; [dthp 28> 1950y; Jtq;fg;gl;lJ. 
II. xUq;fpize;j ePjpj;Jiw> ,e;jpa muRr; rl;lk; 1935 gb 

eilKiwg;gLj;jg;gl;lJ. NkYk; 1937y; xUq;fpize;j ePjpkd;wk; 
cUthf;fg;gl;lJ.  

a. I kl;Lk;   b. II kl;Lk;    c. I kw;Wk; II    
d. midj;Jk; jtwhdit  e. tpil njhpatpy;iy 

 

34. Consider following statements and choose correct option.  
Assertion (A) : Supreme court succeeded Federal court established by Govt of 
India Act 1935 but has greater jurisdiction.  
Reasoning (R) : Supreme court has replaced British privy council as 
highest  court of appeal.  
a. Both A and R are correct and R is correct explanation for A  
b. Both A and R are correct and R is not Correct explanation for A 
c. A is true, R is false  
d. A is false, R is true  
e. Answer not known 
fPo;f;fz;l jfty;fspy; rhpahdijj; Njh;e;njLf;fTk; 
$w;W (A) : ngluy; Nfhh;l;Lf;Fg; gpd;> cr;rePjpkd;wk;> kpf mjpf 
mjpfhuq;fSld; cUthf;fg;gl;lJ.  
fhuzk; (R): Mq;fpy gpiutp fTd;rpYf;Fg; gjpyhf cr;rePjpkd;wk;> 
cUthf;fg;gl;lJ.  

 a. (A) kw;Wk; (R) rhp NkYk; (R), (A) f;F rhpahd tpsf;fk;  
 b. (A) kw;Wk; (R) rhp Mdhy; (R), (A)f;F rhpahd tpsf;fk; my;y  
 c. (A) rhp Mdhy; (R) jtW  
 d. (A) jtW Mdhy; (R) rhp  

e. tpil njhpatpy;iy 
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35. Which of following is not under original Jurisdiction of all high courts.  
a. Admiralty    b. Election disputes to parliament  
c. Matrimonial dispute   d. Criminal cases 
e. Answer not known  
 fPo;f;fz;ltw;Ws; vJ cah;ePjpkd;w mjpfhu tuk;Gf;fs; Kjypy; 
nfhz;Ltug;gltpy;iy?  
a. eph;thfk;    b. ghuhSkd;w Njh;jy; njhlh;ghd rh;r;irfs; 
c. jpUkzk; rk;ge;jg;gl;lit  d. Fw;wtpay; tof;Ffs;  
e. tpil njhpatpy;iy 

 
36. The present value of an oil engine is ₹ 14,580. What was the worth of the engine 

3 years before if the value depreciates at the rate of 10% every year? 
a. ₹ 10628  b. ₹ 18000    c. ₹  20,000   
d. ₹ 13122  e. Answer not known 
xU vz;nza; ,ae;jpuj;jpd; jw;Nghija kjpg;G ₹ 14>580. ,jd; kjpg;G xt;nthU 
Mz;Lk; 10% Fiwe;jhy; %d;W Mz;LfSf;F Kd;dh; ,jd; kjpg;G vt;tsthf 
,Ue;jpUf;Fk;? 

 a. ₹ 10628  b. ₹ 18000    c. ₹ 20,000   
d. ₹ 13122  e. tpil njhpatpy;iy 

 

37. If the fractions 
1 2 5

, , ,
2 3 9

6

13
and 

7

9
 are arranged in ascending order of their 

values, which one will be the fourth? 

 a. 
7

9
  b. 

5

9
     c. 

6

13
   

d. 
2

3
  e. Answer not known 

1 2 5
, , ,

2 3 9

6

13
kw;Wk; 

7

9
Mfpatw;iw VWthpirapy; vOJk; NghJ>  ehd;fhtJ 

vz;  vJ?  

 a. 
7

9
  b. 

5

9
     c. 

6

13
    

d. 
2

3
  e. tpil njhpatpy;iy 

 
38. If 81 students can do a painting on a wall of length 448 m in 56 days. How 

many students can do the painting on a similar type of wall of length 160 m in 
27 days? 
a. 60  b. 10  c. 40  d. 30      e. Answer not known 
81 khzth;fs; 448 kP ePsKs;s xU Rthpy; Xh; Xtpaj;ij 56 ehl;fspy; 
tz;zkpLth;. 160kP ePsKs;s mJ Nghd;w Rthpy; 27 ehl;fspy; me;j Xtpaj;ij 
vj;jid khzth;fs; tz;zkpLth;? 
a. 60  b. 10  c. 40  d. 30    e. tpil njhpatpy;iy 

 



 

15 | Page  044-24339436, 42867555, 9840226187 
 

39. Three numbers are in the ratio 2 : 5 : 7. If the first number, the resulting number 
on the subtraction of 7 from the second number and the third number form an 
arithmetic sequence, then find the smallest numbers. 
a. 16  b. 28  c. 36  d. 47       e. Answer not known 
%d;W vz;fspd; tpfpjk; 2 : 5 : 7 vd;f. Kjyhk; vz;> ,uz;lhk; vz;zpypUe;J 
7If; fopj;Jg; ngwg;gLk; vz; kw;Wk; %d;whk; vz; Mfpad xU 
$l;Lj;njhlh;thpiria Vw;gLj;jpdhy;> mt;ntz;fspy; rpwpa vz;izf; fhz;f 
a. 16  b. 28  c. 36  d. 47       e. tpil njhpatpy;iy 

 

40. 
1

4
of 

3

5
 of  

6

5
 of a number is 54.  Then the number is 

a. 280  b. 300  c. 320  d. 35         e. Answer not known 

xU vz;zpd; 
1

4
 gq;fpy; 

3

5
 gq;fpy; 

6

5
 gq;fhdJ 54 MFk;. vdpy; me;j 

vz;zhdJ       
a. 280  b. 300  c. 320  d. 350     e. tpil njhpatpy;iy 
 

41. Which of following states have common high court? 
a. Tamil Nadu and Andhra Pradesh  b. Kerala and Telangana  
c. Punjab and Haryana    d. Maharashtra and Gujarat  
e. Answer not known 
fPo;fz;l ve;j epyq;fSf;Fg; nghJthd ePjpkd;wq;fs; cs;sd?  
a. jkpo;ehL> Me;jpuh    b. Nfush> njYq;fhdh 
c. gQ;rhg;> `h;ahdh    d. kfhuh~;buh> F[uhj;  
e. tpil njhpatpy;iy 

 
42. Match following with correct options.  

A. Governor    1. Head of Government  
B. chief minister   2. Head of state  
C. Council of Ministers  3. Tribunals  
D. MLC    4. Responsible for assembly 
E. Armed forces   5. Cannot vote for grants  
 A B C D E 
a. 3 2 5 1 4  
b. 4 3 1 2 5  
c. 5 4 2 3 1  
d. 2 1 4 5 3 
e. Answer not known 
nghUj;Jf:  
A. MSeh;   1. murhq;fj;jpd; jiyth;  
B. Kjy; mikr;rh;  2. khepy murpd; jiyth;  
C. ke;jphpfs; rig   3. jPh;g;ghak; 
D. rl;lkd;w cWg;gpdh; 4. rl;lkd;wj;jpw;Fg; nghWg;ghdth;fs; 
E. MAjg;gil  5. khdpaq;fSf;F thf;fspf;fKbahJ  
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 A B C D E 
a. 3 2 5 1 4  
b. 4 3 1 2 5  
c. 5 4 2 3 1  
d. 2 1 4 5 3 
e. tpil njhpatpy;iy 

 
43. Match following with correct options.  

Article   provisions 
A. 169  1. Privilages of governor  
B. 216  2. creation & abolition of State Legislative council  
C. 226   3. Chief Justice of Highcourt is appointed by President  
D. 361(1) 4. Writ Jurisdiction of High court  
 A B C D 
a. 1 2 3 4 
b. 2 3 4 1  
c. 3 4 1 2  
d. 4 1 2 3 
e. Answer not known  
nghUj;Jf:  
rl;l$W    nghUslf;fk;  
A. 169  1. MSehpd; mjpfhuq;fs;  
B. 216  2. rl;lkd;w FO mikj;jy; / fiyj;jy;  
C. 226  3. cah;ePjpkd;wj;jpd; jiyik ePjpgjp FbauRj; jiytuhy; 
epakdk;  
D. 361(1) 4. cah;ePjpkd;wj;jpd; ePjpg;Nguhiz ntspapLk; mjpfhuk; 
 A B C D 
a. 1 2 3 4 
b. 2 3 4 1  
c. 3 4 1 2  
d. 4 1 2 3 
e. tpil njhpatpy;iy 
 

44. Arrange chief ministers of Tamil Nadu in a chronological order 
1. O.P. Ramasamy  2. C. Rajagopalachari   3. CN Annadurai  
4. K. Kamaraj  5. Edappadi K. Palaniswami  
a. 1, 2, 3, 4, 5  b. 1, 2, 4, 3, 5   c. 2, 1, 3, 4, 5  
d. 2, 1, 4, 3 5  e. Answer not known 
jkpof Kjy;th;fs; mth;fs; gjtptfpj;j fhyj;jpd; mbg;gilapy; gl;bayplTk;:  
1. O.P. uhkrhkp  2. C. uh[Nfhghyhr;rhhp   3. C.N. mz;zhJiu 
4. K. fhkuh[; 5. vlg;ghb Nf. godpr;rhkp  
a. 1, 2, 3, 4, 5  b. 1, 2, 4, 3, 5   c. 2, 1, 3, 4, 5  
d. 2, 1, 4, 3 5  e. tpil njhpatpy;iy 
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45. Who is considered as father of modern political science? 
a. Aristotle    b. Harold Laski   c. Nicolo Machiavelli 
d. Kari Marx    e. Answer not known 
'etPd murpay; mwptpaypd; je;ij" vd miof;fg;gLgth; ahh;?  
a. mhp];lhl;by;  b. n`uhy;l; yh];fp c. epf;NfhNyh khf;fpaty;yp 
d. fhh;y;khh;f;];   e. tpil njhpatpy;iy 

 
46. Who wrote famous book "Grammar of Politics?  

a. Plato    b. Laski   c. Aristotle   
d. Machiavelli   e. Answer not known 
"Grammar of Politics" vd;w gpugy Gj;jfj;ij vOjpath; ahh;?  
a. gpshl;Nlh   b. y];fp   c. mhp];lhl;by;  
d. khf;fpaty;yp   e. tpil njhpatpy;iy 

 
47. Idea of welfare state of constitution is contained in.  

a. Directive principles of state policy  b. Fundamental Rights  
c. Fundamental Duties   d. Citizenship  
e. Answer not known 
,e;jpahtpd; murpayikg;gpy; kf;fs; ey muR gw;wpa rpe;jidia cs;slf;fpa 
gFjp  
a. murpd; topf;fhl;L newpKiwfs;  b. mbg;gil chpikfs;  
c. mbg;gilf; flikfs;    d. FbAhpik  
e. tpil njhpatpy;iy 

 
48. Who said sovereignty as "absolute and perpetual power of state, that is greatest 

power to command?  
a. Hobbes   b. Jean Bodin  c. Machiavelli   
d. Austin   e. Answer not known 
",iwahz;ik vd;gJ xl;Lnkhj;j kw;Wk; jilapy;yhj murpd; mjpfhukhFk;. 
NkYk; mjPj fl;lisj;jd;ik cilajhfTk; fhzg;gLfpwJ vd;W $wpath; 
ahh;? 
a. `hg;];  b. [Pd; Nghbd;  c. khf;fpaty;yp  
d. M];bd;  e. tpil njhpatpy;iy 
 

49. Primary goal of welfare state is to achieve  
a. Freedom to all    b. Political justice  c. Social Justice  
d. Employment to all   e. Answer not known 
kf;fs; ey murpd; Kjd;ik Fwpf;Nfhs; vd;gJ vij miltJ?  
a. midtUf;Fkhd Rje;jpuk;  b. murpay; ePjp  
c. r%f ePjp    d. midtUf;Fkhd Ntiytha;g;G 
e. tpil njhpatpy;iy  
 

50. Indian political thinker who proposed radical democracy was.  
a. M.N. Roy  b. Jawaharlal Nehru  c. Gandhi   
d. Ambedkar  e. Answer not known 
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jPtpu Kd;Ndw;wthj kf;fshl;rp Kiwia rpwe;j kf;fshl;rp Kiw vd;W 
ghpe;Jiuj;j ,e;jpa murpay; rpe;jidahsh; ahh;?  
a. M.N. uha;  b. [t`h;yhy; NeU   c. fhe;jp  
d mk;Ngj;fh;  e. tpil njhpatpy;iy 

 
51. Match following with correct options.  

A. Usage of EVM      1. 1988 
B. reduction of Voting age from 21 to 18    2. 1991  
C. Structural Adjustment programme    3. 2004  
 A B C  
a. 1 2 3  
b. 3 1 2  
c. 2 3 1  
d. 3 2 1 
e. Answer not known  
nghUj;Jf: 
A. kpd;dZ thf;FgjpT ,ae;jpuk; gad;ghL  1. 1988 
B. thf;fspf;Fk; taJ 21ypUe;J 18 Mf Fiwg;G  2. 1991  
C. fl;likg;G> rPuikg;G> jpl;lkply;   3. 2004  
 A B C  
a. 1 2 3  
b. 3 1 2  
c. 2 3 1  
d. 3 2 1  
e. tpil njhpatpy;iy 

 
52. Match the following:  

A. Chipko movement    1. Uttarkhand  
B. Appiko movement    2. Karnataka  
C. Bishnoi movement    3. Rajasthan  
D. Silent valley     4. Kerala  
 A B C D 
a. 1 2 3 4 
b. 2 3 4 1  
c. 3 4 1 2  
d. 4 1 2 3 
e. Answer not known 
nghUj;Jf. 
A. rpg;Nfh ,af;fk;    1. cj;jufhz;l; 

B. mg;gpf;Nfh ,af;fk;   2. fh;ehlfh 
C. gp~;Neha; ,af;fk;   3. uh[];jhd; 
D. mikjpg; gs;sj;jhf;F ,af;fk;  4. Nfush 
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A B C D 
a. 1 2 3 4 
b. 2 3 4 1  
c. 3 4 1 2  
d. 4 1 2 3 
e. tpil njhpatpy;iy 

 
53. Vishaka guidelines seek to eliminate  

a. Exploitation of workers in factories  
b. Religious discrimination  
c. Subjugation of Asian Nations by western Nations  
d. Sexual Harrasment of women in working places 
e. Answer not known 
tprhfh topKiwfs; ePf;FtJ 
a. njhopw;rhiyfspy; njhopyhsh;fis Ruz;Ljy;. 
b. kjuPjpapyhd ghFghLfs; 
c. Nkw;fj;jpa ehLfs; Mrpa ehLfis mbikg;gLj;Jy; 
d. gzpaplq;fspy; ngz;fspd; kPjhd  ghypd njhe;juTfs; 
e. tpil njhpatpy;iy 

 
54. Who appoints chief Election commissioner? 

a. The Parliament    b. The Governor  c. The president of India  
d. The prime minister of India  e. Answer not known 
 jiyikj; Njh;jy; Mizaiu epakpg;gth; ahh;? 
a. ghuhSkd;wk;  b. MSeh;    c. ,e;jpaf; FbauRj;jiyth; 
d. ,e;jpag; gpujkh;  e. tpil njhpatpy;iy 

 
55. Who said "Leadership and learning are indispensable to each other?  

a. Abraham Lincoln  b. John F. Kennedy   c. Woodrow Wilson  
d. Theodre Roosevelt  e. Answer not known 
jiyikg; gz;Gk;> fw;wYk; xd;NwhL xd;W ,d;wpaikahjit vd;W $wpath; 
ahh;? 
a. Mgpufhk; ypq;fd;  b. [hd; v/g; nfd;db c. cl;Nuh tpy;rd;  
d. jpNahlh; &];nty;l; e. tpil njhpatpy;iy 

 
56. Simplest form of plurality / majority electoral system is. 

a. First Past the Post  b. block vote    c. Party block vote   
d. Limited vote system  e. Answer not known 
Njh;jypy; gd;ikj;Jtk; / ngUk;ghd;ik Kiwapd; vspikahd tbtk; vd;gJ 

a. Kjypy; epiyiaf; fle;J nry;Yjy; (FPTP)    
b. njhFjp thf;F (BV) 
c. fl;rpj; njhFjp thf;F (PBV)    
d. tiuaWf;fg;gl;l thf;F Kiw 
e. tpil njhpatpy;iy 
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57. Match list I with List II and choose correct option using codes given below.  
 List I     List II 
A. FPTP    1. Kuwait  
B. Block vote     2. Iran  
C. Alternate vote    3. Australia 
D. Tworound system  4. India 
 A B C D 
a. 4 1 3 2  
b. 1 2 4 3  
c. 2 3 1 4  
d. 3 4 2 1 
e. Answer not known  
nghUj;Jf. 
gl;bay; I    gl;bay; II 
A. FPTP    1. Fitj; 
B. njhFjp thf;F   2. <uhd; 
C. khw;W thf;F   3. M];jpNuypah 
D.,URw;W Kiw   4. ,e;jpah 

A B C D 
a. 4 1 3 2  
b. 1 2 4 3  
c. 2 3 1 4  
d. 3 4 2 1 
e. tpil njhpatpy;iy  

 
58. For Loksabha election India is divided into _________ constituencies 

a. 542  b. 545  c. 543  d. 540   e. Answer not known 
kf;fsit Njh;jYf;fhf ,e;jpah _______ njhFjpfshfg; gphpf;fg;gl;Ls;sJ. 
a. 542  b. 545  c. 543  d. 540   e. tpil njhpatpy;iy 

 
59. Minimum quota of votes required by a person to secure Rajya Sabha seat is  

a. 1
1

Total candidates

TotalVotes

 
 

 
   b. 1

1

Total votes polled

Total condidates tobeelected

 
 

 
 

c. 1
1

Total condidates tobeelected

Total votes polled

 
 

 
 d. 

1
1

Total votes polled

Total condidates tobeelected

 
 

 
 

e. Answer not known 
uh[;a rigapy; cWg;gpduhtjw;F xUth; ngwNtz;ba Fiwe;jgl;r thf;Ffs; 
vd;gJ 

a. 1
1

 
 

 

nkhj; j Ntl; ghsh; fs;

nkhj; j thf; Ffs; 
   

b. 1
1

 
 

 

gjpthd nkhj; j thf; Ffs; 

Njh; e; njLf; fg; gl Ntz;ba nkhj; j Ntl; ghsh; fs; 
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c. 1
1

 
 

 

Njh; e; njLf; fg; gl Ntz;ba nkhj; j Ntl; ghsh; fs;  

gjpthd nkhj; j thf; Ffs;
 

d. 
1

1
 

 
 

gjpthd nkhj; j thf; Ffs;  

Njh; e; njLf; fg; gl Ntz;ba nkhj; j Ntl; ghsh; fs; 
 

e. tpil njhpatpy;iy 
 

 
60. Which of the following is incorrectly paired? 

a. L.M. Singhvi committee   –  1986 
b. G.V.K Rao committee   –  1985  
c. Ashok Mehta committee  -  1977 
d. Balwant Rai Mehta committee -  1960 
e. Answer not known  
fPo;f;fz;ltw;Ws; jtwhfg; nghUe;jpAs;sJ vJ?  
a. L.M. rpq;tp FO    - 1986 
b. G.V.K. uht; FO    - 1985 
c. mNrhf; Nkj;jh FO   - 1977 
d. gy;te;j;uha; Nkj;jh FO   - 1960 
e. tpil njhpatpy;iy 

 
61. Which is not a recommendation made by Lord Ripon under resolution of 1882? 

a. Presence of majority of nonofficial  
b. creation of rural boards, tehsil and district boards 
c. nominated members to be 1/3rd  of total strength 
d. Municipal commissioner nominated by government  
e. Answer not known 
hpg;gd; gpuGtpd; jPh;khdk; 1882-d; gb ghpe;Jiu nra;ag;glhjJ vJ?  
a. mYty; rhuh cWg;gpdh;fspd; ngUk;ghd;ik ,Uj;jy;  
b. Cuf thhpaq;fs;> jhrpy;fs; (k) khtl;l thhpaq;fis cUthf;Fjy;  
c. nkhj;j vz;zpf;ifapy; 1/3 gq;F epakd cWg;gpdh;fshf ,Uj;jy;  
d. murhq;fk; efuhl;rp Mizaiu epakpj;jy;  
e. tpil njhpatpy;iy 

 
62. Which is not a provision under 73rd constitutional Amendment Act, 1992? 

a. Gram Sabha as foundation of Panchayat raj  
b. State having population above 20 lakh to constitute 3 her Panchayat  
c. Governor shall constitute finance commission for every five years  
d. Ward committee constituted for a territorial area having population of 3 

lakh or more 
e. Answer not known 
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73tJ murpayikg;Gj; jpUj;jr; rl;lk;> 1992-d; fPohd mk;rk; my;yhJ vJ?  
a. fpuhk rigahdJ gQ;rhaj;J uh[Pd; mbj;jskhf cs;sJ  
b. kf;fs;njhif 20 yl;rj;Jf;Fk; kpfhky; cs;s khepyq;fspy; 3 mLf;F 

gQ;rhaj;Jfis epWt Ntz;Lk;  
c. MSeh; 5 Mz;Lf;F xU Kiw khepy epjpf;FOit mikg;ghh; 
d. thh;L FOthdJ kf;fs; njhif 3 ,yl;rk; (m) mjw;F Nkw;gl;l vy;iyg; 

gFjpapy; mikf;fg;gLfpwJ.  
e. tpil njhpatpy;iy 

 

63. Royal commission of 1913 was headed by  
a. Samuel   b. Alexander Stafford   c. Alexander cardow 
d. Cornish  e. Answer not known 
uhay; Mizak; 1913d; jiyth;  
a. rhKNty;  b. mnyf;]hz;lh; ];lh/Nghh;L c. mnyf;]hz;lh; fhh;bA+ 
d. fhh;dp~;  e. tpil njhpatpy;iy 

 

64. Which of following best denotes social Justice?  
a. Special laws and privileges to underprivileged communities 
b. Delegation of equal power to people  
c. Struggle by weaker groups to establish equal society through equal 

opportunity  
d. System based on collective ownership emphasizing equality  
e. Answer not known 
fPo;f;fz;ltw;Ws; r%f ePjpia rpwg;ghff; Fwpf;Fk; fhuzp vJ?  
a. rYiffsw;w gphptpdUf;F rpwg;ghd rl;lq;fisAk;> Kd;DhpikfisAk; 

Vw;gLj;Jjy;  
b. kf;fSf;F rk mjpfhu gpujpepjpj;Jtj;ij toq;Fjy;  
c. rk tha;g;Gfs; %yk; rkj;Jt rKjhaj;ij mila gytPdkhd FOf;fs; 

NghuhLjy;  
d. rkj;Jtj;ij typAWj;Jk; $l;L chpikia epiyehl;Ljy;  
e. tpil njhpatpy;iy 

 

65. Who said “Humans respected on basis of caste which he belongs to is barbarian 
and anti-human thinking”? 
a. Dr. B.R. Ambedkar  b. E.V.R Periyar   c. Jyotiba phule  
 d. A.R. Desai   e. Answer not known 
"kdpjid kdpjdhff; fUjKbahky;> mtuJ rhjpia kl;LNk itj;J vil 
Nghl KaYk; rpe;jid fhl;Lkpuhz;bj;jdkhdJ" vd;W $wpath; ahh;?  
a. Dr. B.R. mk;Ngj;fh; b. <.nt.uh. nghpahh;   c. N[hjpgh G+Ny   
d. A.R. Njrha;   e. tpil njhpatpy;iy 

 

66. Why was 26 January declared as Day of Mourning? 

a. Justice party demanded Social reforms to be preceded before independence.  

b. Dravida Kazhagam opposed formation of constituent assembly dominated 
by INC. 

c. Dravida Kazhagam opposed declaration of Hindi as official language in 
1965. 
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d. On this day INC decided to celebrate Independence day in 1930 after the 
Lahore resolution 

e. Answer not known  
[dthp 26 MdJ Vd; Jf;fjpdkhf mwptpf;fg;gl;lJ?  
a. ePjpf;fl;rpahdJ Rje;jpuj;jpw;F Kd;ghf r%f rPh;jpUj;jq;fisf; nfhz;Ltu 

Kw;gl;lJ.  
b. ,e;jpa Njrpa fhq;fpurpd; Nkyhjpf;fk; nfhz;l murpay; eph;zarig 

mikg;gij jpuhtplh; fofk; vjph;j;jJ.  
c. 1965-y; ,e;jp mYtyf nkhopahf mwptpf;fg;gl;lij jpuhtplh; fofk; 

vjph;j;jJ.  
d. 1930> yh$h; jPh;khdj;jpw;F gpwF ,e;jpa Njrpa fhq;fpu]; ,e;ehis tpLjiy 

ehshf nfhz;lhl KbntLj;jJ.  
e. tpil njhpatpy;iy 

 
67. Match following with correct options 

A. Hindi made official  Language    1. 1857 
B. State reorganization      2. 1938 
C. President of Justice Party – Periyar   3. 1965 
D. Madras University      4. 1956  
 A B C D  
a. 3 4 2 1  
b. 4 3 2 1  
c. 3 4 1 2 
d. 1 3 2 4 
e. Answer not known  
nghUj;Jf: 
A. ,e;jp mYtyf nkhopahdJ   1. 1857 
B. khepy kWrPuikg;G     2. 1938 
C. nghpahh; ePjpf;fl;rpapd; jiytuhdJ  3. 1965 
D. nkl;uh]; gy;fiyf;fofk;    4. 1956 
 A B C D  
a. 3 4 2 1  
b. 4 3 2 1  
c. 3 4 1 2 
d. 1 3 2 4  
e. tpil njhpatpy;iy 
 

68. In Arathupal of Thirukural , valluvar says about  
a. Ideals and morals  b. Poet    c. Political philosopher 
d. Welfare state  e. Answer not known 
jpUf;Fwspd; mwj;Jg;ghypy; ts;Sth; vijg;gw;wpf; $Wfpwhh;. 
a. ,yl;rpaq;fs; kw;Wk; xOf;fq;fs;   b. Gyth;fs; 
c. murpay; jj;Jtthjp     d. murpd; eyd;fs;  
e. tpil njhpatpy;iy 
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69. Advisory Jurisdiction of Supreme court was adopted from? 
a. GOI Act 1935  b. Britain   c. Weimar constitution 
d. Canadian constitution e. Answer not known 
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cr;rePjpkd;wj;jpd; mwpTiu mjpfhu tuk;G vjpypUe;J ngwg;gl;lJ? 
a. ,e;jpa muRr; rl;lk;> 1935 b. gphpl;ld;  c. nta;kh; murikg;G 
d. fdlh murikg;G   e. tpil njhpatpy;iy 
 

70. The first sitting of Rajya Sabha was held on? 
a. 9 December 1952  b. 13 December 1952 c. 19 May 1954  
d. 13 May 1952  e. Answer not known 
khepyq;fsitapd; Kjy; $l;lk; vg;NghJ njhlq;fpaJ? 
a. 1952 brk;gh; 9  b. 1952 brk;gh; 13  c. 1954 Nk 19   
d. 1952 Nk 13  e. tpil njhpatpy;iy 

 
71. The Rights of transgender person Bill 2014 is introduced by? 

a. Private member Bill, Trichy Shiva MP 
b. Public bill, Trichy Shiva MP 
c. Private Bill, Nagarajan MP Trichy 
d. Public bill Trichy Nagarajan 
e. Answer not known 
%d;whk; ghypd egh;fs; chpikfs; rl;l Kd;tiuT 2014 ahuhy; 
mwpKfg;gLj;jg;gl;lJ? 
a. jdpegh; rl;lKd;tiuT> jpUr;rp rpth MP 
b. nghJ rl;lKd;tiuT> jpUr;rp rpth MP 
c. jdpahh; rl;lKd;tiuT> ehfuh[d; MP - jpUr;rp 
d.nghJ kNrhjh – jpUr;rp ehfuh[d; 
e. tpil njhpatpy;iy 

 
72. Executive power exercised by the president directly or indirectly is enshrined 

in which article? 
a. Art. 51  b. Art. 52    c. Art. 53   
d. Art. 54  e. Answer not known 
,e;jpa xd;wpaj;jpd; Ml;rp mjpfhuj;ij FbauRj; jiytUf;F mspg;gJld; 
mtw;iw NeubahfNth> kiwKfkhfNth nray;gLj;j tif nra;Ak; rl;lf;$W 
vJ? 
a. rl;lf;$W 51 b. rl;lf;$W 52   c. rl;lf;$W 53  
d. rl;lf;$W 54 e. tpil njhpatpy;iy 

 
73. Which act led to the abolition of Supreme Court and was considered a 

landmark in evolution of High courts in India? 
a. The Indian High Court Act 1861 b. The Indian High Court Act 1867 
c. GOI, Act 1935    d. No such Acts 
e. Answer not known 
fPo;f;fz;l ve;jr; rl;lk; ,e;jpa cr;rePjpkd;wk; xopg;Gf;F ,l;Lr; nrd;wJ. 
NkYk;> ,JNt ,e;jpahtpy; cah;ePjpkd;wq;fs; Njhd;Wtjw;fhd tuyhw;W rpwg;G 
kpf;f epfo;thff; fUjg;gLfpwJ? 
a. ,e;jpa cah;ePjpkd;w rl;lk; 1861 b. ,e;jpa cah;ePjpkd;w rl;lk; 1867 
c. ,e;jpa muRr; rl;lk; 1935  d. vr;rl;lKk; ,y;iy 
e. tpil njhpatpy;iy 
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74. Which of the following is an alternative dispute mechanism in India? 
a. Supreme court  b. High court   c. District court  
d. Lok Adalats  e. Answer not known 
gpd;tUtdtw;wpy; ,e;jpahtpy; xU khw;W jfuhW Kiwik vJ? 
a. cr;rePjpkd;wk;  b. cah;ePjpkd;wk; c. khtl;l mkh;T ePjpkd;wk;  
d. Nyhf; mjhyj;  e. tpil njhpatpy;iy 
 

75. Which is established to provide advice to the concerned governments for the 
regulations of an Inter-State river or river valley? 
a. River Board  b. Water dispute Tribunal  c. River Council 
d. Zonal council  e. Answer not known 
khepyq;fSf;fpilNaahd ejpfis Nkyhz;ik nra;tjw;F khepyq;fSf;F 
ghpe;Jiufs; toq;Ftjw;F Vw;gLj;jg;gl;l mikg;G vJ? 
a. ejp Mizak;  b. ejpePh; jPh;g;ghak;   c. ejp FO  
d. kz;lyf; FO  e. tpil njhpatpy;iy 

 
76. Which of the following is/are true? 

1. All divisor of a number are also factors for that number  
2. All factors of a number are also divisors for that number  
3. All divisors of a number need not be factors for that number  
4. All factors of a number need not be divisors for that number  
a. 2, 3    b. 1, 2    c. 1, 2, 3  
d. All the above  e. Answer not known 
fPo;f;fz;ltw;Ws; vJ / vit rhpahdJ? 
1. Xh; vz;zpd; vy;yh tFj;jpfSk; mt;ntz;zpd; fhuzpfshFk; 
2. Xh; vz;zpd; vy;yh fhuzpfSk; mt;ntz;zpd; tFj;jpfshFk; 
3. Xh; vz;zpd; vy;yh tFj;jpfSk; mt;ntz;zpd; fhuzpahf ,Uf;fj; 

Njitapy;iy 
4. Xh; vz;zpd; vy;yh fhuzpfSk; mt;ntz;zpd; tFj;jpahf ,Uf;fj; 

Njitapy;iy 
a. 2, 3    b. 1, 2     c. 1, 2, 3 

 d. midj;Jk;   e. tpil njhpatpy;iy 
 
77. Find the area of the following figure: 

 
a.50 cm2    b. 67.5 cm2     c. 72 cm2 

 d. 53.5 cm2   e. Answer not known 
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a.50 cm2   b. 67.5 cm2     c. 72 cm2   
d. 53.5 cm2  e. tpil njhpatpy;iy 

 

78. Which term of the geometric sequence, 
4 8

5, 2, , ,...
5 25

.., is 
128

15625
? 

a. 7  b. 8  c. 9  d. 6 e. Answer not known 
4 8

5, 2, , ,...
5 25

, vd;w ngUf;Fj; njhlh;thpirapy; 
128

15625
 vj;jidahtJ cWg;G 

vdf; fhz;f.  
a. 7  b. 8  c. 9  d. 6 e. tpil njhpatpy;iy 

 
79. The mean age of 15 teachers in a school is 42. The ages of the teachers are 35, 42, 

48, X, X+8, 40, 43, 50, 46, 50, 37, 32, 38, 41, 40 (in years). Find the unknown ages 
of the two teachers? 
a. 32 & 40  b. 28 & 36     c. 16 & 24   
d. 40 & 48  e. Answer not known 
xU gs;spapYs;s 15 Mrphpah;fspd; ruhrhp taJ 42 MFk;. me;j Mrphpah;fspd; 
tajhdJ 35, 42, 48, X, X+8, 40, 43, 50, 46, 50, 37, 32, 38, 41 kw;Wk; 40 
(Mz;Lfspy;) MFk; vdpy;> mt;tpU Mrphpah;fspd; taJfis fhz;f 
a. 32 & 40  b. 28 & 36     c. 16 & 24   
d. 40 & 48  e. tpil njhpatpy;iy 

 

80. A sweet is in the shape of rhombus whose diagonals are given as 4 cm and 5 cm. 
The surface of the sweet should be covered by an aluminum foil. Find the cost 
of aluminum foil used for 400 such sweets at the rate of ₹ 7 per 100 sq. cm. 
a.120   b. 160    c. 280     
d. 340   e. Answer not known 
Xh; ,dpg;G tif rha;rJu tbtpy; cs;sJ. mjd; %iy tpl;lq;fs; KiwNa> 4 
nr.kP kw;Wk; 5 nr.kP. ,dpg;gpd; Nkw;gug;G KOtJk; nky;ypa mYkpdpaj; 
jfl;lhy; %lg;gl Ntz;Lk;. 100 r.nr.kPf;F ₹ 7 tPjk; nkhj;jk; 400 ,dpg;Gfis 
mYkpdpaj; jfl;lhy; %l vt;tsT nrythFk;? 
a.120   b. 160    c. 280     
d. 340   e. tpil njhpatpy;iy 

 

81. Which of the following are the recommendations of punchi commission in 
2007? 
1. Governors to have fixed tenure 
2. Problem affliated areas or districts in a state rather than the entire state can 

be brought under emergency 
3. Introduce changes in Art. 355, Art. 356 
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4. Governor to be removed by the Impeachment process. 
a. only 1   b. 1, 2 & 4    c. 1, 2, 3  
d. All the above  e. Answer not known 
gpd;tUtdtw;wpy; 2007-y; mikf;fg;gl;l Gd;r;rp FOtpd; ghpe;Jiufis 
Njh;e;njLf;f. 
1. khepy MSeh;fs; Fwpg;gpl;l gjtpf;fhyj;jpw;F epakpf;fg;gl Ntz;Lk;. 
2. khepyj;jpy; fpsh;r;rpapy; ghjpf;fg;gl;l khtl;lq;fs; (m) gFjpfspy; kl;LNk.  

neUf;fb epiyia nfhz;Ltuyhk;. 
3. cWg;G 355> cWg;G 356 Mfpatw;wpy; khw;wk; nra;a Ntz;Lk;. 
4. MSeh;fs; gjtpePf;f jPh;khdk; %yk; kl;LNk gjtpapy; ,Ue;J ePf;fg;gl 

Ntz;Lk;. 
a. 1 kl;Lk;   b. 1, 2 kw;Wk;  4   c. 1, 2, 3  
d. Nkw;fz;l midj;Jk; e. tpil njhpatpy;iy 

 
82. Federalism was demanded in India for the first time by? 

a. Mountbatten plan  b. Nehru Report  c. Cabinet Mission Plan 
d. Rajaji Plan   e. Answer not known 
,e;jpahtpy; $l;lhl;rp Kiwapd; Njitia Kjd;Kjypy; typAWj;jpaJ? 
a. nksz;l;Ngl;ld; jpl;lk;  b. NeU mwpf;if 
c. mikr;ruit gpujpepjpfs; FO d. ,uh[h[p jpl;lk; 
e. tpil njhpatpy;iy 

 
83. Which article authorizes the president to make rules for more convenient 

transaction of business of central government and among the ministries? 
a. Art. 75  b. Art. 76   c. Art. 77   
d. Art. 78  e. Answer not known 
murikg;gpd; ve;j cWg;G FbauRj;jiyth; gy;NtW mikr;rfj;jpw;F gzpia 
xJf;fPL nra;Ak; mjpfhuk; gw;wp Fwpg;gpLfpwJ?  
a. cWg;G  75  b. cWg;G  76   c. cWg;G  77  
d. cWg;G  78  e. tpil njhpatpy;iy 

 
84. A member of SPSC can be removed on the grounds of misbehavior only after 

an enquiry has been conducted by 
a. Committee appointed  b. Supreme Court 
c. HC of State   d. Committee appointed by governor 
e. Answer not known 
khepy muRg; gzpahsh; Njh;thizaj; jiyth; my;yJ cWg;gpdh;fis 
jtwhd elj;ijapy; KiwNfL Fw;wj;jpy; <Lgl;Ls;sduh vd ve;j mikg;gpdhy; 
tprhhpf;fg;gl;L gjtpePf;fk; nra;ag;gLfpwJ? 
a. mjw;fhf FO epakdk; nra;ag;gLfpwJ 
b. cr;rePjpkd;wk; 
c. khepy cah;ePjpkd;wk; 
d. MSeuhy; FO epakdk; nra;ag;gLfpwJ 
e. tpil njhpatpy;iy 

 
85. Which Article provides for an independent office of CAG? 

a. Art 147  b. Art 148    c. Art 149   
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d. Art 150  e. Answer not known 
ve;j ,e;jpa murikg;G cWg;G> xU Rahl;rp mjpfhuk; nfhz;l ,e;jpa 
jiyikf; fzf;Fj; jzpf;ifahsh; mYtyfk; (CAG) mikf;f toptif 
toq;fpAs;sJ?  
a. cWg;G 147  b. cWg;G 148   c. cWg;G  149   
d. cWg;G 150 e. tpil njhpatpy;iy 

 

86. Who is the author of “India‟s Struggle for Independence”? 
a. Hridayanath Kunzru b. Prof. Bipan Chandra c. Pattabi Sittaramaya 
d. V.D. Savarkar  e. Answer not known 
“,e;jpa tpLjiyf;fhd Nghuhl;lk;” vd;w E}ypd; Mrphpah; ahh;? 
a.`phpjaehj; Fd;];U b.Nguhrphpah; – gpgd; re;jpuh 
c.gl;lhgp rpj;juhikah d. V.D. rthh;f;fh; 
e. tpil njhpatpy;iy 

 

87. Dakshina Pradesh mean the amalgamation of ? 
a. TN & Karnataka  b. TN & Kerala  c. TN, Kerala, Karnataka 
d. TN, Andhra Pradesh e. Answer not known  
jl;rpz gpuNjrk; vd;gJ vij cs;slf;fpajhFk;? 
a. jkpo;ehL kw;Wk; fh;ehlfh b. jkpo;ehL kw;Wk; Nfush 
c. jkpo;ehL> Nfush> fh;ehlfh d. jkpo;ehL> Me;jpugpuNjrk; 
e. tpil njhpatpy;iy 

 

88. 103rd Amendment Act, 2019 provides 
a. GST     
b.10% reservation for economically weaker section 
c. 10% reservation for SC/ST 
d. NCBC 
e. Answer not known 
103-tJ jpUj;jr;rl;lk;> 2019 vijg; gw;wpaJ? 
a. ruf;F kw;Wk; Nrit thp 
b. nghUshjhu hPjpapy; gpd;jq;fpa gphptpdUf;F 10% ,lxJf;fPL 
c. gl;bay; ,dj;jth; / goq;FbapdUf;F 10% ,lxJf;fPL 
d. NCBC 
e. tpil njhpatpy;iy 

 

89. 99th Amendment act 2014 provides for? 
a. Constitutional status to NCBC 
b. GST 
c. Establishment of National Judicial Commission 
d. LBA Amendment 
e. Answer not known 
99-tJ jpUj;jr;rl;lk;> 2014 vjw;fhf nfhz;Ltug;gl;lJ? 
a. gpw;gLj;jg;gl;l tFg;gpdUf;fhd Njrpa Mizaj;jpw;F murpayikg;G 

me;j];J toq;Fjy;. 
b. nghUs;fs; kw;Wk; Nrit thp 
c. Njrpa ePjp Mizaj;ij epWTtjw;fhf ,aw;wg;gl;lJ. 
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d. LBA rl;lj;jpUj;jk; 
e. tpil njhpatpy;iy 

90. In the context of India, which of the following principles is / are implied 
institutionally in the parliamentary government? 
1. Members of Cabinet are Members of the Parliament 
2. Ministers hold the office till they enjoy confidence in the Parliament 
3. Cabinet is headed by the Head of the State. 
Select the correct answer using the codes given below. 
a. 1 and 2 only  b. 3 only   c. 2 and 3 only  
d. 1, 2 and 3   e. Answer not known 
,e;jpahitg; nghWj;j tiu ehlhSkd;w murhl;rpapy; fPo;f;fhZk; 
Nfhl;ghLfspy; vJ gpd;gw;wg;gLfpwJ?  
1. mikr;ruiu cWg;gpdh;fs; midtUk; ehlhSkd;w cWg;gpdh;fs; Mthh;.  
2. ehlhSkd;wj;jpd; ek;gpf;if ePbf;Fk; tiu mikr;rh;fs; gjtp tfpg;gh;  
3. mikr;ruit murpd; jiytuhy; jiyik jhq;fg;gLfpwJ.  
fPo;f;fz;l Fwpfisg; gad;gLj;jp rhpahd tpiliaj; Njh;e;njL. 
a. 1, 2 kl;Lk;   b. 3 kl;Lk;   c. 2 kw;Wk; 3 kl;Lk;  
d. 1, 2, 3    e. tpil njhpatpy;iy 

 

91. Who is the Leader of the Lok Sabha?  
a. Speaker    b. The Prime Minister c. The President 
d. The Vice-President  e. Answer not known 
kf;fsitapd; jiyth; ahh;?  
a. rghehafh;     b. gpujkh;   c. FbauRj;jiyth;  
d. FbauRj; Jizj;jiyth;  e. tpil njhpatpy;iy 

 

92. The President of India is 
a. the real ruler of India 
b. the constitutional head of the state 
c. the head of the state as well as the government 
d. the leader of the majority party which forms the government 
e. Answer not known 
,e;jpahtpd; FbauRj; jiyth;  
a. ,e;jpahtpd; cz;ikahd Ml;rpahsh;  
b. murpd; murikg;G jiyth;  
c. murpd; jiytuhfTk;> murhq;fj;jpw;Fk; jiyik tfpj;jhh;.  
d. murhq;fj;ij cUthf;Ffpd;w ngUk;ghd;ik fl;rpapd; jiyth;  
e. tpil njhpatpy;iy 
 

93. On the death of the President, the Vice President succeeds him as President for 
a. the unexpired term   b. a maximum period of six months 
c. a maximum period of one year  d. not mentioned in the constitution  
e. Answer not known 
FbauRj;jiythpd; kuzj;jpd;NghJ FbauRj; Jizj;jiyth; vt;tsT fhyk; 
FbauRj;jiyth; gjtp tfpf;fyhk;?  
a. FbauRj;jiyth; tfpf;fhky; kPjk; tpl;Lr; nrd;w gjtpf; fhyk; tiu  
b. mjpf gl;rkhf 6 khjq;fs;  
c. mjpfgl;rkhf 1 tUlk;  
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d. murpayikg;gpy; Fwpg;gplg;gltpy;iy 
e. tpil njhpatpy;iy 

94. Which of the following empowered the Crown to establish the Supreme Court 
of Judicature in Calcutta? 
a. Charter of 1774  b. Regulating Act of 1773  c. Cornwallis 
Code 
d. Charter of 1726  e. Answer not known 
fy;fj;jhtpy; cs;s cr;r ePjpkd;w ePjpkd;wj;ij mikf;f fPo;f;fz;ltw;wpy; vJ 
kd;dUf;F mjpfhuk; mspj;jJ?  
a. 1774 rhrdr; rl;lk;  b. 1773 xOq;FKiw rl;;lk;  
c. fhh;d;thyp]; rl;l njhFg;G  d. 1726 rhrdr; rl;lk;  
e. tpil njhpatpy;iy 

 
95. The most important feature of a federal constitution is 

a. State Governments   b. National Government 
c. Decentralization of Powers  d. Political Parties 
e. Answer not known 
$l;lhl;rp murikg;gpd; kpf Kf;fpa jd;ik vJ?  
a. khepy murhq;fq;fs;   b. Njrpa murhq;fk;  
c. mjpfhug; gfph;T     d. murpay; fl;rpfs;  
e. tpil njhpatpy;iy 

 
96. Article 262 of the constitution deals with 

a. Inter State River Water Disputes  b. Inter State Disputes 
c. Centre-state Disputes    d. International Disputes 
e. Answer not known 
murikg;gpd; 262-d; cWg;G vt;tifahd rpf;fy;fs; rk;ge;jg;gl;lJ?  
a. khepyq;fSf;fpilNaahd ejp rpf;fy;fs;  
b. khepyq;fSf;fpilNaahd rpf;fy;fs;  
c. kj;jpa – khepy rpf;fy;fs;  
d. rh;tNjr rpf;fy;fs; 
e. tpil njhpatpy;iy 

 
97. The Union Public Service Commission, which is concerned with the 

recruitment of civil services at the Centre, 
a. Was created through a presidential Ordinance in 1950 
b. Was created by an executive resolution which was duly endorsed by the 
Parliament 
c. Was provided in the Constitution 
d. Was provided under the Indian Independence Act, 1947. 
e. Answer not known 
kj;jpapy; Fbikg; gzpaplq;fs; epakdq;fSf;Fg; nghWg;ghd xd;wpa muRg; 
gzpahsh; Njh;thizaf; FO vd;gJ 
a. FbauRj;jiythpd; mtru rl;lj;jpd; %yk; 1950-,y; cUthf;fg;gl;J 
b. ehlhSkd;wj;jhy; jPh;khdk; epiwNtw;wg;gl;L cUthf;fg;gl;lJ 



 

32 | Page  044-24339436, 42867555, 9840226187 
 

c. murikg;ghy; mDkjpf;fg;gl;lJ 
d. ,e;jpa Rje;jpu rl;lk; 1947-,d; %yk; cUthf;fg;gl;lJ 
e. tpil njhpatpy;iy 

98. The Composition of the Union Public Service Commission has been  
a. Laid down in the Constitution 
b. Determined by the Parliament 
c. Determined by the president 
d. Determined by the Union Home Ministry 
e. Answer not known 
xd;wpa muRg; gzpahsh; Njh;thizaf; FOtpd; cUthf;fk;  
a. murikg;gpy; $wg;gl;Ls;sJ.  
b. ehlhSkd;wj;jhy; KbT nra;ag;gl;lJ.  
c. FbauRj;jiytuhy; jPh;khdpf;fg;gl;lJ 
d. cs;Jiw mikr;rfj;jhy; KbT nra;ag;gl;lJ. 
e. tpil njhpatpy;iy 

 
99. Which of the following is not a statutory functions of the UPSC? 

a. To advise the government on the methods of recruitment, promotion and 
control of public services 

b. To look after the interests and right of civil servants 
c. To hear appeals from civil servants and redress their grievances 
d. To act as a watchdog on the functioning of the state Public Service 

Commission 
e. Answer not known 
fPo; fz;ljpy; vJ xd;wpa muRg; gzpahsh; Njh;thizaj;jpd; rl;lG+h;tkhd 
gzp my;y?  
a. Fbikg; gzpapd; epakdk;> gjtp cah;T> fl;Lg;ghL Mfpad njhlh;ghf 

murhq;fj;jpw;F MNyhrid toq;Fjy;  
b. Fbikg; gzpahsh;fspd; eyd;fs; chpikfs; NgZjy;  
c. Fbikg; gzpahsh;fspd; Fiwfis Nfl;L jPh;j;J itj;jy;  
d. khepyj; Njh;thizar; nray;fisf; fz;fhzpj;jy;  
e. tpil njhpatpy;iy 

 
100. In India, new All India Services can be created 

a. Through an amendment in the Constitution 
b. By the Union Government in Consultation with the UPSC 
c. By the Parliament 
d. By the President on the Advice of the Union Council of Ministers  
e. Answer not known 
Gjpa midj;J ,e;jpag; gzpia ,t;thW cUthf;fyhk;?  
a. murikg;Gj; jpUj;jr; rl;lj;jpd; %yk;  
b. xd;wpa muRg; gzpahsh; Njh;thizaj;Jld; MNyhrpj;J  
c. ehlhSkd;wj;jpd; %yk;  
d. kj;jpa mikr;ruitapd; ghpe;Jiu Nghpy; FbauRj;jiytuhy; 
e. tpil njhpatpy;iy 
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101. Which one of the following sets of Bills is presented to the Parliament along 
with the Budget? 
a. contingency Bill and Appropriation Bill  
b. Finance Bill and Appropriation Bill 
c. Finance Bill and Appropriation Bill 
d. Direct Taxes and Indirect Taxes Bill 
e. Answer not known 
fPo;f;fz;ltw;wpy; ve;j rl;l Kd;tiuT ehlhSkd;wj;jpy; epjpepiy 
mwpf;ifNahL Nrh;e;J mspf;fg;gLfpwJ?  
a. jw;fhypf rl;l Kd;tiuT kw;Wk; xJf;fPl;L rl;l Kd;tiuT  
b. epjp rl;l Kd;tiuT  
c. epjp rl;l Kd;tiuT kw;Wk; xJf;fPl;L rl;l Kd;tiuT 
d. Neub rl;l Kd;tiuT thp kw;Wk; kiwKf thp rl;l Kd;tiuT 
e. tpil njhpatpy;iy 

 
102. The Lok Sabha is superior to the Rajya Sabha because  

a. it is a directly elected house 
b. the Council of Ministers is accountable to it 
c. it controls the budget 
d. of all the above reasons 
e. Answer not known 
kf;fsit khepyq;fsitia tpl cah;e;jJ Vnddpy;>  
a. kf;fsit Neubahf Njh;e;njLf;fg;gl;l mikg;G  
b. mikr;ruit FO kf;fsitf;F fl;Lg;gl;lJ. 
c. kf;fsit epjpepiy mwpf;ifia fl;Lg;gLj;Jfpd;wJ.  
d. ,it midj;Jk;  
e. tpil njhpatpy;iy 

 
103. When was the Public Service Commission, a forerunner of Union Public Service 

Commission, was first of all set up in India? 
a. 1926 b. 1938 c. 1947  d. 1950 e. Answer not known 
xd;wpa muRg;gzpahsh; Njh;thizaj;jpd; Ke;ija mikg;ghd muRg; 
gzpahsh; Njh;thizak; mikf;fg;gl;l Mz;L?  
a. 1926 b. 1938 c. 1947  d. 1950 e. tpil njhpatpy;iy 

 
104. Assertion (A) : A Secretary is the chief advisor to the minister on all aspects of 

policy and administrative affairs. 
Reason (R) : Cabinet Secretary is head of the civil service. 
a. Both A and R are true and R is the correct explanation of A. 
b. Both A and R are true but R is not the correct explanation of A. 
c. A is true but R is false. 
d. A is false but R is true. 
e. Answer not known 
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$w;W (A) : xU mikr;rfj;jpd; midj;Jf; nfhs;iffs; kw;Wk; eph;thf 
tptfhuq;fspy; Kjd;ik mNyhrfh; me;j mikr;rfj;jpd; nrayhsh;  
fhuzk; (R) : Fbikg; gzpfspd; jiyth;> mikr;rf nrayhsh;  
a. $w;Wk;> fhuzKk;> rhpahditfs; MFk;. fhuzk; $w;Wf;fhd rhpahd 

tps;ffkhFk;.  
b. $w;Wk; fhuzKk; rhpahditfshFk;. Mdhy; fhuzk; $w;iw rhpahf 

tpsf;ftpy;iy.  
c. $w;W rhp Mdhy; fhuzk; jtW  
d. $w;W jtW Mdhy; fhuzk; rhp  
e. tpil njhpatpy;iy 

 
105. Choose the States that were formed once the State Reorganisation Act was 

passed by the Parliament in 1956  
a. Andhra Pradesh, Punjab, Manipur, Tripura 
b. Andhra Pradesh, West Bengal, Madhya Pradesh, Bihar 
c. Andhra Pradesh, Laccadive, Odisha, West Bengal 
d. Andhra Pradesh, Tripura, West Bengal, Tamilnadu 
e. Answer not known 
khepy kWrPuikg;Gr; rl;lk; 1956 ,d; gb fPo;fz;l khepyq;fspy; vit 
kWrPuikf;fg;gl;ld? 
a. Me;jpu gpuNjrk;> gQ;rhg;> kzpg;G+h;> jphpGuh 
b. Me;jpu gpuNjrk;> Nkw;F tq;fhsk;> kj;jpag; gpuNjrk;> gPfhh;  
c. Me;jpu gpuNjrk;> ,yl;rj;jPTfs;> xbrh> Nkw;F tq;fhsk;  
d. Me;jpu gpuNjrk;> jphpGuh> Nkw;F tq;fhsk;> jkpo;ehL   
e. tpil njhpatpy;iy 

 
106. Periyar E.V. Ramaswamy‟s „Self-Respect Movement‟ triggered which of the 

following:  
a. Formation of the State of Tamil Nadu 
b. Abolition of Madras Presidency 
c. Inculcation of Tamil nationalism consciousness  
d. Both a and b 
e. Answer not known 
nghpahh; <.nt.uhkrhkpapd; Rakhpahij ,af;fk; fPo;f;fz;litfspy; vjidj; 
J}z;baJ?  
a. jkpo;ehL khepy mikg;G    
b. nrd;id khfhz xopg;G  
c. jkpo; Njrpathj tpopg;Gzh;it vOg;gpaJ  
d. a kw;Wk; b 
e. tpil njhpatpy;iy 
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107. In 1956, Jawaharlal Nehru was forced to declare Andhra Pradesh as an 
independent State on linguistic grounds, owing to mass protests turned violent 
after:  
a. Resistance by the Nizam of Hyderabad to concede to the demands of India 
b. Hunger strike by Potti Sriramulu resulting in his death 
c. Protests by Vishalandhra movement 
d. Both b and c 
e. Answer not known 
khngUk; vjph;g;G ,af;fk; kw;Wk; td;Kiw / rk;gtq;fSf;F gpwF 1956 ,y; 
[tfh;yhy; NeU nkhop mbg;gilapy; Me;jpug; gpuNjrk; jdp khepykhf 
mwptpf;if eph;ge;jpf;fg;gl;lhh; me;j epfo;T vJ?  
a. ,e;jpahtpd; Nfhhpf;ifia i`juhghj; ep[hk; Vw;Wf; nfhs;s kWj;jhh;.  
b. nghl;b =uhkY rhFk; tiu cz;zhtpujk; ,Ue;J kiwe;jhh;.  
c. tprhy Me;jpuh Nghuhl;lk;  
d. b kw;Wk; c ,uz;Lk; 
e. tpil njhpatpy;iy 

 
108. Which of the following are matters on which a constitutional amendment is 

possible only with the ratification of the legislatures of not less than one-half of 
the states? 
1. Election of the President 
2. Representation of the States in Parliament 
3. Any of the changes in Lists in the 7th schedule. 
4. Abolition of the Legislative Council of a State. 
a. 1, 2 and 3   b. 1, 2 and 4   c. 1, 3 and 4   
d. All of these  e. Answer not known 
fPo;f;fz;l fhhpaq;fspy; ve;j murpayikg;G jpUj;jq;fs; Nkw;nfhs;sg;gLk; 
nghOJ khepyq;fspd; gpujpepjpfspd; xg;Gjy;fs; ,e;jpa khepyq;fspd; ghjp 
khepyq;fspd; xg;Gjy; ngwg;gl Ntz;Lk;. 
1. FbauR jiythpd; Njh;jy; 
2. ghuhSkd;wj;jpy; khepyq;fSf;fhd gpujpepjpj;Jtk; 
2. khepyq;fspypUe;J nrhy;yg;gLk; $w;W ghuhSkd;wj;jpy; Nkw;nfhs;sg;gl 
3. 7tJ ml;ltiz thpirapy; khw;wk; Nkw;nfhs;sg;gLk;NghJ 
4. xU khepyj;jpd; Nkyit fiyf;fg;gLk;NghJ. 
a. 1> 2 kw;Wk; 3  b. 1> 2 kw;Wk; 4  c. 1> 3 kw;Wk; 4 
d. ,it midj;Jk;  e. tpil njhpatpy;iy 

 

109. Prohibition of discrimination on Group of religion etc (Article 15 of the 
Constitution of India) is a Fundamental Right classifiable under 
a. the Right to Freedom of Religion b. the Right against Exploitation 
c. the Cultural and Educational Rights d. the Right to Equality 
e. Answer not known 
xU rkaj;jpd; xU gphptpdiu jil nra;tJ (,e;jpa murpayikg;gpd; 15tJ 
~uj;jpd;gb) mbg;gil chpikapy; ve;j tifapd;gb 
a. kjRje;jpu chpikapd;gb   b. Ruz;lYf;nfjpuhd chpik 
c. gz;ghL kw;Wk; fy;tp chpik  d. rkj;Jt chpik 
e. tpil njhpatpy;iy 
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110. The power of the Supreme Court of India to decide disputes between the centre 
and the states falls under its: 
a. advisory jurisdiction   b. appellate jurisdiction 
c. original jurisdiction   d. constitutional jurisdiction 
e. Answer not known 
kj;jpa khepy muRf;fpilNa Vw;gLk; fUj;J NtWghl;il ePf;Fk; mjpfhuk; 
cr;rePjpkd;wj;jpw;F cz;L. ,J fPo;f;fz;l ve;j jPh;g;ghaj;jpd; fPo; tUfpwJ. 
a. MNyhrid mjpfhu tuk;G   b. Nky;KiwaPL mjpfhu tuk;G 
c. cz;ikahd mjpfhu tuk;G  d. murpayikg;G mjpfhu tuk;G 
e. tpil njhpatpy;iy 

 
111. The concept of Public Interest Litigation originated in 

a. the United Kingdom b. Australia   c. the United States  
d. Canada   e. Answer not known 
nghJ ey tof;F vd;w mk;rk; ve;j ehl;by; cUthdJ. 
a. gphpl;ld;   b. M];jpNuypah  c. mnkhpf;f If;fpa ehL 
d. fdlh   e. tpil njhpatpy;iy 

 
112. The Dinesh Goswami Committee recommended 

a. the constitution of state level election commission 
b. list system of election to the Lok Sabha 
c. governmental funding of parliamentary election 
d. a ban on the candidature of independent candidates in the parliamentary 

elections 
e. Answer not known 
jpNd]; Nfh];thkp FOtpd; ghpe;Jiu  
a. khepy mstpy; Njh;jy; Mizak; cUthf;fg;gLjy; 
b. Nyhf;rghtpw;F thpirf; fpufkhf Njh;jy; 
c. ghuhSkd;wj; Njh;jYf;fhf muR epjp xJf;fPL 
d. ghuhSkd;w Njh;jypy; RNar;ir Ntl;ghsh;fs; epw;gij jLg;gjw;fhd Miz. 
e. tpil njhpatpy;iy 

 
113. The Constitution of India recognizes 

a. only religious minorities    
b. only linguistic minorities 
c. religious and linguistic minorities  
d. religious, linguistic and ethnic minorities 
e. Answer not known 
,e;jpa murpayikg;G vij Vw;Wf;nfhs;fpwJ. 
a. rka rpWghd;ikia kl;Lk;  b. nkhop rpWghd;ik kl;Lk; 
c. rka kw;Wk; nkhop rpWghd;ik  d. rka> nkhop kw;Wk; ,drpWghd;ik 
e. tpil njhpatpy;iy 
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114. The Parliament can make any law for the whole or any part of India for 
implementing international treaties 
a. with the consent of all the state 
b. with the consent of the majority of states 
c. with the consent of the states concerned 
d. without the consent of any state 
e. Answer not known 
ghuhSkd;wk; gd;dhl;L cld;gbf;ifia ve;j gFjpapYk; nray;gLj;Jtjw;fhf 
midj;J> rl;lj;ijAk; ,aw;w KbAk; 
a. vy;yh khepyq;fspd; xg;GjYld; 
b. ngUk;ghd;ikahd khepyq;fspd; xg;Gjy; ngw;wTld; 
c. rk;ge;jg;gl;l khepyq;fspd; xg;Gjy; ngw;wTld; 
d. ve;j khepyq;fspd; xg;Gjy; ngwhky; epiwNtw;wyhk; 
e. tpil njhpatpy;iy 

 
115. Consider the following functionaries 

1. Cabinet Secretary   2. Chief Election Commissioner 
3. Union Cabinet Minister  4. Chief Justice of India 
Their correct sequence in the order of precedence is 
a. 3, 4, 2, 1  b. 4, 3, 1, 2   c. 4, 3, 2, 1   
d. 3, 4, 1, 2  e. Answer not known 
fPo;f;fz;lth;fspd; nray;ghLfis Ma;f. 
1. fhgpdl; nrayhsh;   2. jiyik Njh;jy; Mizahsh; 
3. kj;jpa fhgpdl; mikr;rh;  4. ,e;jpa cr;rePjpkd;w jiyik ePjpgjp  
eilKiwg;gb mth;fspd; mjpfhu ju thpir 
a. 3, 4, 2, 1  b. 4, 3, 1, 2   c. 4, 3, 2, 1   
d. 3, 4, 1, 2  e. tpil njhpatpy;iy 

 

116. Find the value of x: 
5 4

5

12

5 5 5
5

5

x
 

  

a. 4  b. 5  c. 6  d. 12        e. Answer not known 

 x- ,d; kjpg;G fhz;f: 
5 4

5

12

5 5 5
5

5

x
 

  

a. 4  b. 5  c. 6  d. 12      e. tpil njhpatpy;iy 
 

117. Which one will replace the question mark? 

 
 a. 45  b. 41  c. 32  d. 40     e. Answer not known 
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gpd;tUk; glj;jpypUe;J tpLgl;l vz;izf; fhz;f. 

   
 a. 45  b. 41  c. 32  d. 40     e. tpil njhpatpy;iy 
 

118. A cone of height 24 cm is made up of modeling clay. A child reshapes it in the 
form of a cylinder of same radius as cone. Find the height of the cylinder.  
a. 6 cm  b.8 cm    c. 12 cm   
d. 24 cm  e. Answer not known 
fspkz; nfhz;L nra;ag;gl;l 24 nr.kP cauKs;s xU $k;ig xU Foe;ij 
mNj MuKs;s Xh; cUisahf khw;WfpwJ vdpy; cUisapd; cauk; fhz;f 

 a. 6 cm  b.8 cm    c. 12 cm   
d. 24 cm  e. tpil njhpatpy;iy 

 
119. In the following sequence of instructions, 1 stands for Run, 2 stands for Stop, 3 

stands for Go, 4 stands for Sit and 5 stands for Wait. If the sequence were 
continued, which instruction will come next? 
4 5 4 5 3 4 5 3 1 4 5 3 1 2 4 5 4 5 3 4 5 3  
a. Wait  b. Sit  c. Go  d. Run    e. Answer not known 
fPNo nfhLf;fg;gl;Ls;s vz; thpirapy;> 1 vd;gJ Run vd;Wk;> 2 vd;gJ Stop 
vd;Wk;> 3 vd;gJ Go vd;Wk;> 4 vd;gJ Sit vd;Wk;> 5 vd;gJ Wait vd;Wk; 
Fwpf;fg;gLfpwJ vdpy; vz; thpir njhlUk;NghJ mLj;J tUk; vz; 
vijf;Fwpf;Fk;? 
4 5 4 5 3 4 5 3 1 4 5 3 1 2 4 5 4 5 3 4 5 3  
a. Wait  b. Sit  c. Go    d. Run e. tpil njhpatpy;iy 

 
120. The sub triplicate ratio of 64 : 729 is  

a. 8 : 27  b. 4 : 9    c. 27 : 8   
d. 9 : 4  e. Answer not known 
64 : 729 vd;w tpfpjj;jpd; Jiz Kk;klq;F tpfpjk;  
a. 8 : 27  b. 4 : 9    c. 27 : 8   
d. 9 : 4  e. tpil njhpatpy;iy 

 
121. The state which has the largest  number  of seats reserved for the Scheduled Tribes 

in the Lok Sabha is : 
a. Bihar    b. Gujarat   c. Uttar Pradesh  
d. Madhya Pradesh  e. Answer not known 
,e;jpahtpy; Nyhf;rghtpw;fhd goq;FbapdUf;fhd ,lxJf;fPl;Lj; njhFjpfs; ve;j 
khepyj;jpy; mjpfk; ,Uf;fpd;wd. 
a. gPfhh;    b. F[uhj;   c. cj;jugpuNjrk;  
d. kj;jpa gpuNj~;  e. tpil njhpatpy;iy 
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122. The purpose of the inclusion of Directive Principles of State Policy in the Indian 
Constitution is to establish 
a. political democracy   b. social democracy 
c. Gandhian democracy  d. social and economic democracy 
e. Answer not known 
khepyq;fSf;fhd Neub Nfhl;ghl;L nfhs;ifia ,e;jpa murpayikg;gpy; ,lk; 
ngwr; nra;af; fhuzk;. 
a. murpay; Rje;jpuk;   b. r%f Rje;jpuk; 
c. fhe;jpa [dehafk;   d. r%f kw;Wk; nghUshjhu [dehafk; 
e. tpil njhpatpy;iy 

 
123. Which one of the following bills must be passed by each house of the Indian 

parliament separately by special majority? 
a. Ordinary Bill    b. Money Bill   c. Finance Bill 
d. Constitution Amendment Bill e. Answer not known 
fPo;f;fz;l kNrhjhf;fspy; ve;j kNrhjh ghuhSkd;w <uitapYk; jdpj;jdpahf 
rpwg;G ngUk;ghd;ikAld; epiwNtw;wg;gl Ntz;Lk;. 
a. rhjhuz kNrhjh   b. gz kNrhjh 
c. epjp kNrhjh    d. murpayikg;G rPh;jpUj;j kNrhjh 
e. tpil njhpatpy;iy 

 
124. With reference to the Constitution of India, which one of the following pairs is not 

correctly matched? 
a. Forests: Concurrent List  b. Stock Exchanges: Concurrent List 
c. Post Office: Union    d. Public Health: State List 
e. Answer not known 
,e;jpa murpayikg;gpy; fPo;f;fz;ltw;wpy; jtwhd ,iz fz;lwpf.  
a. fhLfs; : nghJg;gl;bay;  b. gq;Fre;ij : nghJg;gl;bay; 
c. jghy;mYtyfk; : kj;jpa gl;bay; d. nghJ Rfhjhuk; : khepy gl;bay; 
e. tpil njhpatpy;iy 

 
125. Who was the Chief Justice of India when Public Interest Litigation (PIL) was 

introduced to the Indian Judicial System? 
a. M. Hidayatullah  b. A.M. Ahmad  c. Krishna Iyer  
d. P N Bhagwati  e. Answer not known 
,e;jpahtpy; nghJkf;fs; ey ePjpkd;wk; ,e;jpa ePjpj;Jiwapy; mwpKfg;gLj;jpa 
nghOJ ahh; cr;rePjpkd;w jiyik ePjpgjpahf ,Ue;jhh;. 
a. M. ,jaj;Jy;yh  b. A.M. mfk;kJ  c. fpU~;zh Iah;  
d. P.N. gftjp   e. tpil njhpatpy;iy 
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126. What does the 104th Constitutional Amendment Bill related to? 
a. Abolition of Legislative Councils in certain states 
b. Introduction of dual citizenship for persons of Indian origin living outside 

India 
c. Providing quota to socially and educationally backward classes in private 

educational institutions 
d. Providing quota for religious minorities in the services under the Central 

Government 
e. Answer not known 
104tJ murpayikg;G rPh;jpUj;j kNrhjh vJ rk;ge;jg;gl;lJ? 
a. rpy khepyq;fspd; Nky; rig ePf;fk; gw;wpaJ 
b. ntspehLfspy; trpf;Fk; ,e;jpa tk;rh topfSf;F ,ul;il FbAhpik 

toq;Fk; kNrhjh mwpKfk;. 
c. jdpahh; fy;tp epWtdq;fspy; r%f nghUshjhuj;jpy; gpw;gl;lth;fSf;F 

jdpahf ,l xJf;fPL toq;FtJ. 
d. kj;jpa muRg;gzpfspy; rpWghd;ik rkaj;jth;fSf;F ,lxJf;fPL toq;FtJ 
e. tpil njhpatpy;iy 

 
127. Under the administration of which one of the following is the Department of 

Atomic Energy? 
a. Prime Minister‟s Office  b. Cabinet Secretariat 
c. Ministry of Power   d. Ministry of Science and Technology 
e. Answer not known 
fPo;f;fz;l ve;j eph;thfj;jpd; fPo; mZrf;jp Jiw nray;gLfpwJ. 
a. gpujk ke;jphpapd; mYtyfk; b. fhgpdl; nrayfk; 
c. vhprf;jp mikr;rfk;   d. mwptpay; kw;Wk; njhopy;El;g mikr;rfk; 

e. tpil njhpatpy;iy 
 

128. The Constitution (Seventy-Third Amendment) Act, 1992, which aims at promoting 
the Panchayati Raj Institutions in the country, provides for which of the 
following? 
1. Constitution of District Planning Committees. 
2. State Election Commissions to conduct all Panchayat elections. 
3. Establishment of State Finance Commissions. 
Select the correct answer using the codes given below: 
a. Only 1   b. 1 and 2    c. 2 and 3   
d. All of these  e. Answer not known 
murpayikg;G (73tJ jpUj;j) kNrhjh fPo;f;fz;l epWtdq;fis Nkk;gLj;j vd;d 
eltbf;iffis Nkw;nfhz;ldh;. 
1. khtl;l jpl;lf;FOf;fs; mikg;G  
2. vy;yh gQ;rhaj;Jf;fspYk; Njh;jiy elj;Jtjw;fhf khepy Njh;jy; Mizak; 

Vw;gLj;Jjy; 
3. khepy epjpf; FOf;fis mikj;jy; 
fPo;f;fz;l FwpaPl;bd; cjtpAld; rhpahd gjpiy jUf. 
a. 1 kl;Lk;  b. 1 kw;Wk; 2   c. 2 kw;Wk; 3    
d. midj;Jk;  e. tpil njhpatpy;iy 
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129. “To uphold and protect the Sovereignty, Unity and Integrity of India” is a 

provision made in the  
a. Preamble of the Constitution b. Directive Principles of State Policy 
c. Fundamental Rights   d. Fundamental Duties 
e. Answer not known 
“,iwahz;ik ghJfhg;G kw;Wk; Nkk;ghL> ,e;jpa xUikg;ghL kw;Wk; xw;Wik” 
Mfpa ~uj;Jf;fs; vjpy; fhzg;gLfpwJ. 
a. murpayikg;G KfTiu b. muRf;F topfhl;Lk; newpKiwf; Nfhl;ghLfs; 
c. mbg;gil chpikfs; d. mbg;gil flikfs; 
e. tpil njhpatpy;iy 

 
130. Which one of the following objectives is not embodied in the Preamble to the 

Constitution of India? 
a. Liberty of thought  b. Economic liberty  c. Liberty of expression 
d. Liberty of belief  e. Answer not known 
,e;jpa murpayikg;gpd; KfTiuapy; fPo;f;fz;l ve;j mk;rk; fhzg;gltpy;iy 
a. rpe;jid Rje;jpuk;   b. nghUshjhu Rje;jpuk; 
c. czh;it ntspg;gLj;Jk; chpik d. ek;gpf;iff;fhd Rje;jpuk; 
e. tpil njhpatpy;iy 

 
131. Right to Vote and to be elected in India is a  

a. Fundamental Right  b. Natural Right c. Non Constitutional Right 
d. Legal Right   e. Answer not known 
thf;fspf;Fk; chpik> ,e;jpahtpy; Njh;e;njLf;fg;gLjy; vd;gJ. 
a. mbg;gil chpik    b. ,aw;if chpik 

c. murpayikg;gpy; my;yhj chpik  d. rl;l chpik 
e. tpil njhpatpy;iy 

 
132. Consider following statement regarding state government 

I. Chief Minister is chief administrator of state 
II. Number of Judges in High Court is not uniform and fixed 
Correct statements are 
a. I only   b. II only   c. Both I and II   
d. None of above e. Answer not known 
khepy muR rk;ge;jg;gl;l fPo;f;fz;l jfty;fspy; rhpahdij Fwpg;gplTk; 
I. Kjy; mikr;rh;> khepyj;jpd; Kjy; eph;thfp 
II. cah;ePjpkd;w ePjpgjpfspd; vz;zpf;if epWtg;gl;ljy;y  
a. I kl;Lk;   b. II kl;Lk;   c. I kw;Wk; II  
d. VJTkpy;iy   e. tpil njhpatpy;iy 
 

133. Consider following statement, choose correct answer from codes given below. 
Assertion (A): Leader of opposition plays a significant role to play in Indian 
Parliamentary System. 
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Reasoning (R): He is Chairman of Public Accounts Committee, selects  
Chairman of Central Vigilance Commission, Information Commission. 
a. (A) alone is correct and (R) is incorrect. 
b. (A) and (R) are correct and (R) is correct explanation of (A). 
c. (A) and (R) are in correct 
d. (A) and (R) are correct but (R) is not correct explanation. 
e. Answer not known 
gpd;tUk; $w;Wfisf; fUJf: 
$w;W (A) : ,e;jpag; ghuhSkd;w Kiwapy; vjph;f;fl;rp jiyth; gjtpahdJ 
Kf;fpag;gq;F tfpf;fpwJ. 
fhuzk; (R) : ,th; nghJf; fzf;Ff; FOtpd; jiytuhfTk; kj;jpa tpopg;G 
Mizak; kw;Wk; kj;jpa jfty; Mizaj;jpd; jiyth;fisj; Njh;T 
nra;gtuhfTk; cs;shh;. 
a. (A) kl;Lk; rhp> (R) jtW  
b. (A) kw;Wk; (R) rhp kw;Wk; (R) vd;gJ (A) d; rhpahd tpsf;fkhFk;  
c. (A) kw;Wk; (R) jtW  
d. (A) kw;Wk; (R) rhp Mdhy; (R) vd;gJ rhpahd tpsf;fky;y  
e. tpil njhpatpy;iy 
 

134. Consider the following statements and choose correct answer from codes given 
below. 
Assertion (A): Human Rights Day is celebrated on 10 December every year. 
Resolution (R): UNGA adopted Resolution 217A on UDHR (Universal  
Declaration of Human Rights) on this day 
a. (A) alone is correct (R) is incorrect. 
b. (A) and (R) are correct and (R) is correct explanation. 
c. (A) and (R) are incorrect 
d. (A) and (R) are correct but (R) is not correct explanation of (A) 
e. Answer not known 
gpd;tUk; $w;Wfisf; fUJf. 
$w;W (A) : xt;nthU Mz;Lk; brk;gh; 10-k; ehs; kdpj chpikfs; jpdkhff; 
nfhz;lhlg;gLfpwJ.  
fhuzk; (R): cyfshtpa kdpj chpikfs; Nguwpf;ifapd; kPJ (UNGA) I.eh. 
nghJr;rig (UNGA) jPh;khdk; 217 MdJ ,e;ehspy; ,aw;wg;gl;lJ.  
a. (A) rhp> (R) jtW  
b. (A) kw;Wk; (R) rhp> (R) vd;gJ rhpahd tpsf;fkhFk;  
c. (A) kw;Wk; (R) jtwhdit  
d. (A) kw;Wk; (R) rhp Mdhy; (R) vd;gJ (A)-d; rhpahd tpsf;fky;y  
e. tpil njhpatpy;iy 

 
135. In democracy final authority rests with 

a. Parliament   b. People  c. Council of ministers  
d. President   e. Answer not known 
kf;fshl;rpapy; ,Wjp mjpfhukhdJ ________ ,lk; cs;sJ  
a. ghuhSkd;wk;  b. kf;fs;   c. mikr;rh;fspd; mit   
d. [dhjpgjp   e. tpil njhpatpy;iy 
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136. Choose the correct statements regarding Fundamental Duties. 
1. They were incorporated under 44th constitutional Amendment Act. 
2. They were based on provisions of Verma Committee recommendation. 
3. Original constitution had 10 Fundamental Duties. 
4. Latest duty to provide opportunity for education to child was added by 86th 
constitutional Amendment 2002. 
a. 1 and 2 only  b. 1, 2 and 3 only  c. 3 and 4 only  
d. 4 only   e. Answer not known 
mbg;gilf; flikfs; njhlh;ghd rhpahd $w;Wfis fhz;f  
1. ,it 44tJ murpayikg;Gj; jpUj;jr; rl;lk; %yk; ,izf;fg;gl;ld.  
2. th;kh FOtpd; ghpe;Jiug;gbahd $Wfisf; nfhz;lit  
3. %y murpayikg;ghdJ 10 mbg;gilf; flikfisf; nfhz;bUe;jJ. 
4. 86 tJ murpayikg;Gj; jpUj;jk; 2002-d; gb Foe;ijfSf;F fy;tpaspf;Fk; 
flikahdJ Gjpjhf ,izf;fg;gl;ljhFk;  
a. 1 kw;Wk; 2 kl;Lk;  b. 1, 2 kw;Wk; 3 kl;Lk;  c. 3 kw;Wk; 4 kl;Lk;  
d. 4 kl;Lk;    e. tpil njhpatpy;iy 
 

137. Consider the following statements and choose correct option. 
I. Gandhi wanted to establish a parliamentary system of government. 
II. Gandhiji wanted to establish village republics where each village is 

responsible for own affairs. 
a. Statement I is true   b. Statement II is correct 
c. Both statement are correct  d. None of statement is true 
e. Answer not known 
gpd;tUk; $w;Wfspy; rhpahdijj; Njh;e;njL. 
I. fhe;jp> ghuhSkd;w murhq;f Kiwapid mikf;f tpUk;gpdhh;. 
II. fhe;jp jd;dhl;rpapid cila fpuhk Cuhl;rpfis mikf;fTk;> jq;fspd; 

Njitfis jhq;fNs epiwNtw;wTk; nghWg;Gila fpuhkq;fis mikf;f 
tpUk;gpdhh;.  

a. $w;W I rhp   b. $w;W II rhp   c. ,uz;Lk; rhp  
d. ,uz;Lk; rhpay;y  e. tpil njhpatpy;iy 
 

138. Consider the following statements and choose correct option. 
I. Dr. B.R. Ambedkar played greater role in reducing factory working 

hours to 8 hours 
II. He framed Women and Child Labour Protection Act 
a. I only correct   b. II only correct 
c. Both I and II are correct  d. None of the above 
e. Answer not known 
gpd;tUk; $w;Wfisf; fUJf.  
I. njhopw;rhiyfspy; gzpahw;Wk; Neuj;jpid 8 kzp Neukhff; Fiwf;f 

Dr. B.R. mk;Ngj;fh; rpwg;ghfg; gzpahw;wpdhh;.  
II. ,th; ngz;fs; (k) Foe;ijfSf;fhd njhopyhsh; ghJfhg;G rl;lj;jpid 

tbtikj;jhh;.  
a. I kl;Lk; rhp    b. II kl;Lk; rhp  
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c. I kw;Wk; II ,uz;Lk; rhp  d. Nkw;fz;l vJTkpy;iy  
e. tpil njhpatpy;iy 

139. Which of the following is not federal feature of Indian constitution? 
a. Supremacy of Constitution  b. Independent Judiciary 
c. Written Constitution   d. Integrated Judiciary 
e. Answer not known 
gpd;tUtdtw;Ws; ,e;jpa murpayikg;gpd; $l;lhl;rpapd; mk;rky;yhjJ vJ?  
a. murpayikg;gpd; caujpfhuk;  b. Rje;jpukhd ePjpj;Jiw  
c. vOjg;gl;l murpayikg;G   d. xUq;fpize;j ePjpj;Jiw  
e. tpil njhpatpy;iy 
 

140. Match following with correct options.  
Provision     Source  
A. Liberty equality    1. USSR  
B. Fundamental rights   2. France  
C. Directive principles   3. USA 
D. Fundamental duties   4. Canada  
     5. Ireland  
 A B C D 
a. 1 3 5 4  
b. 2 3 5 1  
c. 2 3 5 4  
d. 2 3 4 1 
e. Answer not known 
nghUj;Jf:  
 fUj;J    ve;ehl;bypUe;J nfhs;if Mjhuk;  
     vLj;Jf;nfhs;sg;gl;lJ. 
A. Rje;jpuk; rkj;Jtk;  1. USSR 
B. mbg;gil chpikfs;  2. gpuhd;];  
C. topfhl;Lk; newpKiwfs;  3. (USA) mnkhpf;f If;fpa ehL  
D. mbg;gilf; flikfs;  4. fdlh 
     5. mah;yhe;J  
 A B C D 
a. 1 3 5 4  
b. 2 3 5 1  
c. 2 3 5 4  
d. 2 3 4 1 
e. tpil njhpatpy;iy 
 

141. Match the following 
Natural National Symbols  Adopted Year 
A. Peacock    1. 2008 
B. river Ganges    2. 2010 
C. River Dolphin   3. 1963 
D. Lactobacillus    4. 1950 
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E. Banyan Tree    5. 2012 
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 A B C D E 
a. 4 2 1 5 3 
b. 3 1 2 5 4 
c. 4 2 1 3 5 
d. 3 1 2 4 5 
e. Answer not known 
nghUj;Jf 
A. kapy;     1. 2008 
B. fq;if MW    2. 2010 
C. Mw;W lhy;/gpd;   3. 1963 
D. yhf;Nlh Ngrpy;y];   4. 1950 
E. Mykuk;    5. 2012 
 A B C D E 
a. 4 2 1 5 3 
b. 3 1 2 5 4 
c. 4 2 1 3 5 
d. 3 1 2 4 5 
e. tpil njhpatpy;iy 
 

142. Choose the correct statements 
I. National Anthem was written by Rabindranath Tagore in Bengali 
II. National Pledge was written by Venkata Subba Rao in English 
III. First Indian National Flag was woven at Gudiyatham in Vellore district 

of Tamilnadu 
IV. On 27th December 1911 the National Song was sung for the first time in 

Calcutta INC session 
a. I, II, IV only   b. II, III, IV only  c. I, III only 
d. All of these   e. Answer not known 
rhpahd $w;Wfisj; Njh;e;njL.  
I. Njrpa fPjk; utPe;jpuehj; jh$uhy; tq;fhs nkhopapy; vOjg;gl;lJ. 
II. 'Njrpa cWjpnkhopia ntq;fl Rg;ghuht; vd;gth; Mq;fpyj;jpy; vOjpdhh;.  
III. tpLjiy ,e;jpahtpd; Kjy; Njrpaf; nfhb jkpo;ehl;bYs;s NtY}h; 

khtl;lj;jpd; Fbahj;jk; vd;Dk; gFjpapy; nea;ag;gl;lJ.  
IV. Njrpag;ghly; Kjd; Kjyhf 1911> brk;gh; 27-k; Mz;by; nfhy;fj;jhtpy; 

eilngw;w ,e;jpa Njrpa fhq;fpu]; khehl;by; ghlg;gl;lJ.  
a. I, II, IV kl;Lk;   b. II, III, IV kl;Lk;   c. I, III kl;Lk;   
d. Nkw;$wpa midj;Jk;  e. tpil njhpatpy;iy 
 

143. Which of the following is/are correctly matched pairs? 
I. Indian coast Guard – 19 August 1978 
II. Indo Tibetan Border Police – 24 October, 1962 
III. Border Security Force – 1 January, 1965 
a. I, II only   b. I, III only   c. II, III only 
d. All the above   e. Answer not known 
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gpd;tUtdtw;Ws; rhpahf nghUe;jp ,izfisj; Njh;Tnra;f.  
I. ,e;jpaf; flNyhuf; fhty; gil – 19 Mf];l; 1978  
II. ,e;Njh – jpngj;jpa vy;iyf; fhty; gil – 24> mf;Nlhgh; 1962  
III. vy;iyg; ghJfhg;G gil    - 1 [dthp> 1965  
a. I, II kl;Lk;   b. I, III kl;Lk;   c. II, III kl;Lk;   
d. Nkw;$wpa midj;Jk;  e. tpil njhpatpy;iy 
 

144. Match the following 
A. National Coast Guard Day   1. January 15 
B. National Army Day    2. October 8 
C. Air Force Day    3. February 1 
D. Navy Day     4. December 7 
E. Armed Forces Flag Day   5. December 4 
 A B C D E 
a. 1 2 3 4 5 
b. 3 1 2 5 4 
c. 2 3 5 4 1  
d. 1 2 4 3 5 
e. Answer not known 
gpd;tUtdtw;iwg; nghUj;Jf:  
A. Njrpa flNyhu fhty;gil jpdk;  1. [dthp 15  
B. Njrpa uhZt jpdk;    2. mf;Nlhgh; 8 
C. tpkhdg;gil jpdk;     3. gpg;uthp 1 
D. flw;gil jpdk;    4. brk;gh; 7 
E. MAjg;gil nfhb ehs;   5. brk;gh; 4 
 A B C D E 
a. 1 2 3 4 5  
b.  3 1 2 5 4  
c. 2 3 5 4 2  
d. 1 2 4 3 5 
e. tpil njhpatpy;iy 
 

145. Choose the incorrectly matched pair 
a. Pradhapa Mudaliar Charitiram – First Tamil Novel 
b. Ponniyin Selvan – Kalki 
c. Chithira Paavai – Akilan 
d. Kadalpura – Abdul Rahuman 
e. Answer not known 
jtwhfg; nghUe;jpa ,iziaj; Njh;e;njL:  
a. gpujhg Kjypahh; rhpj;jpuk; - jkpo; nkhopapd; Kjy; Gjpdk;  
b. nghd;dpapd; nry;td;  - fy;fp  
c. rpj;jpug;ghit   - mfpyd;  
d. fly;Gwh   - mg;Jy;uFkhd;  
e. tpil njhpatpy;iy 
 



 

49 | Page  044-24339436, 42867555, 9840226187 
 

146. Who was the founder of Tamil Isai Sangam in 1943? 
a. Arunchala Kavirayar b. Annamalai Cehttiyar c. Arunagirinathar  
d. Devaneya Paavaanar e. Answer not known 
1943-k; Mz;L jkpo; ,ir rq;fj;ij epWtpah; ahh;?  
a. mUzhr;ry ftpuhah; b. mz;zhkiy nrl;bahh;  
c. mUzfphpehjh;  d. NjtNea ghthzh; 
e. tpil njhpatpy;iy 
 

147. Choose the correct statements 
I. The Iyal Isai Nataka Mandram was established in 1965  
II. In 1936, Kalashetra was founded by Ruckmani Arundel to promote Bharata 

Natiyam 
III. The Tamilnadu Iyal Isai Nataka Mandram is honouring the artists by 

conferring Kalaimaamani Awards every year 
a. I, II only  b. I, III only   c. II, III only 
d. All the above  e. Answer not known 
 
rhpahd $w;Wfisj; Njh;e;njL:  
I. ,ay; ,ir ehlf kd;wk; 1963 – y; Vw;gLj;jg;gl;lJ.  
II. gujehl;baj;ij gug;Gtjw;fhf fyN~j;uh vd;Dk; mikg;G 1936Mk; Mz;L 

Uf;kzp mUz;Nly; mth;fshy; epWtg;gl;lJ. 
III. jkpo;ehL ,ay; ,ir ehlf kd;wk; xt;nthU Mz;Lk; fiykhkzp tpUJ 

mspj;J fiyQh;fis nfsutpf;fpd;wJ.  
a. I, II kl;Lk;   b. I, II kl;Lk;    c. II, III kl;Lk;   
d. Nkw;$wpa midj;Jk;  e. tpil njhpatpy;iy 

 
148. The first Talking Movie in Tamil was ___________ 

a. Alam Aura  b. Kalidass   c. Kecchakavadham 
d. Mahatma Gandhi e. Answer not known 
jkpopy; ntsp te;j Kjy; NgRk;glk;  
a. Myk; Muh  b. fhspjh];    c. fPrftjk;    
d. kfhj;kh fhe;jp  e. tpil njhpatpy;iy 
 

149. Match the following 
A. Theyyam  1. Punjab 
B. Bhangra  2. Gujarat 
C. Garbha  3. Kerala 
D. Bihu   4. Assam 
 A B C D 
a. 3 2 1 4 
b. 3 1 2 4 
c. 2 3 1 4 
d.  3 1 4 2 
e. Answer not known 
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nghUj;Jf:  
A. nja;ak;   1. gQ;rhg;  
B. gq;f;uh   2. F[uhj;  
C. fhh;gh   3. Nfush  
D. gp P̀   4. mrhk;  
 A B C D 
a. 3 2 1 4  
b. 3 1 2 4  
c. 2 3 1 4  
d. 3 1 4 2  
e. tpil njhpatpy;iy 
 

150. Who was the first chairman of Sangeet Natak Academy? 
a. Jawaharlal Nehru    b. Saraladevi   
c. Maulana Abul Kalam Azad   d. P.V. Rajamannar   
e. Answer not known 
rq;fPj ehlf mfhnjkpapd; Kjy; jiyth; ahh;?  
a. [t`h;yhy; NeU     b. rushNjtp  
c. nksyhdh mGy; fyhk; M]hj;   d. P.V uh[ kd;dhh;  
e. tpil njhpatpy;iy 
 

151. Who was the first Indian recipient of Raman Magasaysay Award? 
a. Morarji Desai   b. Vinoba Bhave  c. Varghese Kurien 
d. Jayaprakash Narayan e. Answer not known 
uhkd; kfNrNr tpUJ ngw;w Kjy; ,e;jpah; ahh;?  
a. nkhuhh;[p Njrha;   b. tpNdhgh ghNt  
c. th;fP]; Fhpad;   d. n[a gpufh~; ehuhaz; 
e. tpil njhpatpy;iy 
 

152. Who was the first Foreigner to receive the Bharat Ratna? 
a. Nelson Mandela b. Benazir Bhutto  c. Khan Abdul Gaffar Khan 
d. Winston Churchill  e. Answer not known 
ghuj uj;dh tpUJ ngw;w Kjy; ntspehl;lth; ahh;?  
a. ney;rd; kz;Nlyh  b. ngdhrph; G+l;Nlh   c. fhd; mg;Jy; fhgh;fhd;  
d. tpd;];ld; rh;r;rpy;  e. tpil njhpatpy;iy 
 

153. Choose the incorrectly matched pairs 
a. First women recipient of the Jnapith Award – Ashapurna Devi 
b. First Booker Prize- PH Newby 
c. Asian Nobel Prize – Magsaysay Award 
d. UNICEF – Kalinga Award 
e. Answer not known 
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jtwhd ,iziaj; Njh;e;njL:  
a. QhdgPltpUJngw;w Kjy; ngz;kzp  - M~hG+h;zh Njtp  
b. Kjy; Gf;fh; ghpR     - epA+gp 
c. Mrpahtpd; Nehgy; ghpR    - kfNrNr tpUJ  
d. A+dpnr/g;  (UNICEF)    - fypq;fh tpUJ  
e. tpil njhpatpy;iy 
 

154. Choose the correct statements about Mother Theresa 
I. Founder of the Missionaries of Charity 
II. She was one of the recipients of Raman Magsaysay Award 
III. In 1979, she was awarded with Nobel Peace Prize 
IV. In 1980, she was conferred with Bharat Ratna 

a. I, II, III only   b. II, III, IV only   c. III, IV only 
d. All of these   e. Answer not known 
md;id njurh gw;wp $w;Wfspy; rhpahdtw;iwj; Njh;e;njL.  
I. kp~dhp]; M/g; Nrhpl;b vd;Dk; mikg;ig epWtpath;  
II. uhkd; kfNrNr tpUJ ngw;wth;fspy; ,tUk; xUth; 
III. 1979 – Mk; mz;L mikjpf;fhd Nehgy; ghpR ngw;wth; 
IV. 1980 –Mk; Mz;L ghuj uj;dh tpUJ mspf;fg;gl;L nfsutpf;fg;gl;lhh;.  
a. I, II, III kl;Lk;   b. II, III, IV kl;Lk;  
c. III, IV kl;Lk;   d. Nkw;$wpa midj;Jk;  
e. tpil njhpatpy;iy 
 

155. Who received the Man Booker Prize for the book, “The God of Small Things”? 
a. V.S. Naipaul  b. Aravind Adiga  c. Kiran Desai 
d. Arundhati Roy e. Answer not known 
The God of small Things vd;w ehtYf;fhf Nkd; Gf;fh; ghpR ngw;wth;? 
a. V.S. ieghy;  b. mutpe;j; mbfh   c. fpuz; Njrha;   
d. mUe;jjp uha;  e. tpil njhpatpy;iy 
 

156. The LCM of two numbers is 20 times their HCF. The sum of HCF and LCM is 
2520. If one of the number is 480 then the other number is  

 a. 400   b. 120    c. 600     
d. 240  e. Answer not known 
,uz;L vz;fspd; LCM mtw;wpd; HCF I tpl 20 klq;F mjpfk;. HCF kw;Wk; 
LCM Mfpatw;wpd; $l;Lj;njhif 2520. xU vz; 480 vdpy; kw;nwhU vz;izf; 
fhz;f 

 a. 400   b. 120    c. 600    
d. 240  e. tpil njhpatpy;iy 

 

157. Two number are in the ratio 3 : 5. If 9 is subtracted from each, the new numbers 
are in the ratio 12 : 23. The smaller number is: 

 a. 27  b. 33  c. 49  d.55     e. Answer not known 
 ,uz;L vz;fspd; tpfpjk; 3 : 5. xt;nthU vz;zpypUe;J 9-I  fopf;Fk; 

NghJ fpilf;Fk; Gjpa tpfpjkhdJ 12 : 23 vdpy; rpwpa  vz;izf; fhz;f 
 a. 27  b. 33  c. 49  d.55   e. tpil njhpatpy;iy 
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158. If Rs. 500 amounts to Rs. 583.20 in 2years compounded annually, the rate of 
interest per annum is _____ 

a. 6%  b. 
1

6
2

% c. 7%  d. 8%      e. Answer not known 

&.500 MdJ> $l;L tl;b mbg;gilapy; 2 Mz;Lfspy; &.583.20 Mf khWfpwJ.  
vdpy;> tl;b tPjk; Mz;Lf;F vj;jid tpOf;fhL? 

a. 6%  b. 
1

6
2

% c. 7%  d. 8%     e. tpil njhpatpy;iy 

 
159. What would come as the next element in the alpha numeric 

series? A1Z, F2X, K4V, P8T? 
a. Q10U  b. U16R   c. R16V   
d. U10V  e. Answer not known 
gpd;tUk; fyg;Gj; njhlhpy; mLj;J tUk; cWg;G vJ? 
A1Z, F2X, K4V, P8T 
a. Q10U  b. U16R   c. R16V   
d. U10V  e. tpil njhpatpy;iy 

 

160. From a well shuffled pack of 52 cards, one card is drawn at random. Find the 
probability of getting face card. 

a. 
1

13
  b. 

3

13
  c. 

9

13
  d. 

1

4
    e. Answer not known 

ed;F fiyj;J mLf;fg;gl;l 52 rPl;Lfisf; nfhz;l rPl;Lf;fl;bypUe;J> 
rktha;g;G Kiwapy; xU rPl;L vLf;fg;gLfpwJ. mJ Kf rPl;lhf ,Ug;gjw;fhd 
epfo;jfitf; fz;lwpf 

a. 
1

13
  b. 

3

13
  c. 

9

13
  d. 

1

4
   e. tpil njhpatpy;iy 

 

161. Match the following 
2021 Nobel Prize recipient  Field 
A. Abdulrazak Gurnah  1. Peace 
B. David Julius    2. Literature 
C. Maria Ressa    3. Economics 
D. David Card    4. Medicine 
 A B C D 
a. 1 2 3 4 
b. 2 1 4 3 
c. 2 4 1 3 
d. 2 1 3 4 
e. Answer not known 
gpd;tUtdtw;iwg; nghUj;Jf:  
2021 Nehgy; ghpR ngw;wth;fs;  Jiw  
A. mg;Jy;urhf; Fh;dh   1. mikjp  
B. Nltpl; [Pypa];   2. ,yf;fpak;  
C. khpah nu];]h   3. nghUshjhuk;  
D. Nltpl; fhh;l;    4. kUj;Jtk;  
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A B C D 
a. 1 2 3 4 
b. 2 1 4 3 
c. 2 4 1 3  
d. 2 1 3 4  
e. tpil njhpatpy;iy 
 

162. Match the following 
Books    Authors 
A. Das Kapital   1. Plato 
B. The Republic   2. Malala Yusafsai 
C. Gathering Storm  3. Karl Marx 
D. We are Displaced  4. Winston Churchill 
 A B C D 
a. 1 3 2 4 
b. 3 1 4 2 
c. 3 4 1 2 
d. 2 1 4 3 
e. Answer not known 
nghUj;Jf:  
Gj;jq;fs;      Mrphpah;fs;  
A. lh]; Nfgply;    1. gpNsl;Nlh  
B. jp upgg;spf; (FbauR)   2. kyhyh A+rg;rha;  
C. Nfjhpq; ];lhh;k;     3. fhh;y; khh;f;];  
D. ehq;fs; jdpikgLj;jg; gl;Ls;Nshk;  4. tpd;];ld; rh;r;rp];  

A B C D 
a. 1 3 2 4 
b. 3 1 4 2 
c. 3 4 1 2 
d. 2 1 4 3 
e. tpil njhpatpy;iy 
 

163. Which of the following Books are written by APJ Abdul Kalam? 
1. Wings of Fire  2. Ignited Minds  3. You are born to Blossom 
4. India 2020  5. Turning Points 
a. 1, 2, 4   b. 1, 2, 3, 4   c. 1, 2, 3 
d. All the above  e. Answer not known 
gpd;tUtdtw;Ws; DPJ mg;Jy;fyhk; mth;fshy; vOjg;gl;l Gj;jfq;fs; vit?  
1. mf;fpdpr; rpwFfs;  2. vOr;rp jPgq;fs;   3. eP kyh; gpwe;jtd;  
4. ,e;jpah 2020  5. jpUg;G Kidfs;  

a. 1, 2, 4    b. 1, 2, 3, 4    c. 1, 2, 3    
d. Nkw;$wpa midj;Jk;  e. tpil njhpatpy;iy 
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164. The Book “India Divided” was written by 
a. Jawaharlal Nehru  b. Maulana Abulkalam Azad 
c. Rajendra Prasath  d. Vallabhai Patel 
e. Answer not known 
India Divided vd;w Gj;jfj;ij vOjpath;  
a. [t`h;yhy; NeU  b. nksyhdh mGy;fyhk; M]hj;  
c. uhN[e;jpu gpurhj;   d. ty;ygha; gNly;  
e. tpil njhpatpy;iy 
 

165. Choose the incorrectly matched pair 
a. Prison Diary   - JP Narayan 
b. The Bird of Time   - Annie Besant 
c. I Do what I do  - Raghuram Rajan 
d. The Test of My life  - Yuvaraj Singh 
e. Answer not known  
jtwhf nghUe;jpa ,iziaj; Njh;e;njL: 
a. rpiw ehl;Fwpg;G   - J.P ehuhaz;  
b. fhyj;jpd; gwit   - md;dpngrd;l; 
c. I do what I do  - uFuhk; uh[d; 
d. The test of My life   - Atuh[; rpq;  
e. tpil njhpatpy;iy 
 

166. Choose the correctly matched pairs 
1. Deenabandhu  - C.F. Andrews 
2. Deshabandhu  - C.R. Das 
3. Lokanayak  - B.G. Tilak 
4. Mahamana  - Madan Mohan Malaviya 
a. 1, 2 only  b. 3, 4 only   c. 1, 2, 3 only 
d. All of these  e. Answer not known 
rhpahfg; nghUe;jpa ,izfisj; Njh;e;njL 
1. jPdge;J   - C.F. Mz;l;&]; 
2. Njrge;J  - C.R. jh]; 
3. Nyhf;ehaf;  - B.G. jpyf;  
4. k`hkzh  - kjd; Nkhfd; khytpah 
a. 1> 2 kl;Lk;   b. 3> 4 kl;Lk;   c. 1> 2> 3 kl;Lk;  
d. Nkw;$wpa midj;Jk; e. tpil njhpatpy;iy 
 

167. Who was called as the Sher-i-Kashmir? 
a. Mohammad Ali Jinnah  b. Hari Singh 
c. Sheik Mujfur Rahman  d. Sheik Mohammad Abdullah 
e. Answer not known 
n~h;-,-fh~Pkph; vd;W miof;fg;gLgth; ahh;?  
a. KfkJ myp [pd;dh   b. `hprpq;  
c. N~f; K[;G+h; uFkhd;   d. N~f; KfkJ mg;Jy;yh  
e. tpil njhpatpy;iy 
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168. Match the following 
Foundation   Founder 
A. Shantiniketan  1. Rabindranath Tagore 
B. Golden Temple  2. Guru Arjun Dev 
C. Khalsa Panth   3. Guru Gobind Singh 
D. Arovile Ashram  4. Aurobindo Ghosh 
 A B C D 
a. 1 2 3 4 
b. 2 1 3 4 
c. 4 2 3 1 
d. 1 3 2 4 
e. Answer not known 
gpd;tUtdtw;iwg; nghUj;Jf: 
mikg;G     epWtpath;  
A. rhe;jpepNfjd;   1. utPe;jpuehj; jh$h;  
B. nghw;Nfhapy;   2. FU mh;[pd; rpq;  
C. fy;rh ge;j;   3. FU Nfhgpe;j; rpq;  
D. MNuhtpy; M~;ukk;  4. mutpe;j; Nfh~;  

A B C D 
a. 1 2 3 4 
b. 2 1 3 4  
c. 4 2 3 1  
d. 1 3 2 4  
e. tpil njhpatpy;iy 
 

169. Who is known as the Man of Peace? 
a. Morarji Desai   b. Lal Bahadursashtri c. Gulsari lal Nanda 
d. IK Gujral   e. Answer not known 
'mikjp kdpjh;' vd;W miof;fg;gLgth; ahh;?  
a. nkhuhh;[p Njrha;   b. yhy; gfJ}h; rh];jphp c. Fy;rhhp yhy; ee;jh  
d. I.K. F[;uhy;    e. tpil njhpatpy;iy 
 

170. The International year of Biodiversity was celebrated in 
a. 2002  b. 1992 c. 2010  d. 2022 e. Answer not known 
gd;dhl;L gy;Yaph;fs; Mz;L nfhz;lhlg;gl;l tUk;  

a. 2002  b. 1992 c. 2010  d. 2022 e. tpil njhpatpy;iy 
 

171. Match the following 
A. National Tourism Day   1. February 21 
B. World Cancer Day    2. January 25 
C. World Radio Day    3. February 4 
D. International Mother Tongue Day 4. February 13 
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 A B C D 
a. 2 3 4 1 
b. 2 4 3 1 
c. 3 2 1 4 
d. 3 1 2 4 
e. Answer not known 
gpd;tUtdtw;iwg; nghUj;Jf:  
A. Njrpa Rw;Wyh jpdk;   1. gpg;uthp 21 
B. cyf Gw;WNeha; jpdk;   2. [dthp 25 
C. cyf thndhyp jpdk;   3. gpg;uthp 4 
D. rh;tNjr jha;nkhop jpdk;   4. gpg;uthp 13  

A B C D 
a. 2 3 4 1  
b. 2 4 3 1  
c. 3 2 1 4  
d. 3 1 2 4 
e. tpil njhpatpy;iy 
 

172. The World Social Justice Day was celebrated every year on  
a. December 16   b. February 14  c. February 20 
d. November 18   e. Answer not known 
xt;nthU Mz;Lk; cyf r%f ePjp ehs; nfhz;lhlg;gLk; jpdk;  
a. brk;gh; 16   b. gpg;uthp 14   c. gpg;uthp 20   
d. etk;gh; 18    e. tpil njhpatpy;iy 
 

173. Which day is celebrated as World Press Freedom Day? 
a. February 15   b. March 7   c. May 3 
d. June 21   e. Answer not known 
cyf gj;jphpf;if Rje;jpu jpdkhff; nfhz;lhlg;gLk; ehs; 
a. gpg;uthp 15   b. khh;r; 7   c. Nk 3   
d. [Pd; 21    e. tpil njhpatpy;iy 
 

174. Who was known as the Father of Loksabha? 
a. Lord Mount Batten   b. Jawaharlal Nehru   
c. Ganesh Vasudev Mavlankar d. Sachidananda Sinha 
e. Answer not known 
Nyhf; rigapd; je;ij vd;W miof;fg;gLgth; ahh;? 
a. kTz;l; Ngl;ld; gpuG  b. [t`h;yhy; NeU 
c. fNz~; thRNjt; kht;yq;fh; d. rr;rpjhde;j rpd;`h 

e. tpil njhpatpy;iy 
 

175. Which of the following is known as Topslip? 
a. Jim Corbett National Park  b. Kaziranga National Park 
c. Palani Hills    d. Indira Gandhi Wildlife Sanctuary 
e. Answer not known 
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gpd;tUtdtw;Ws; “lhg;];ypg;” vd;W miof;fg;gLtJ vJ? 
a. [pk;fhh;ngl; Njrpa g+q;fh  b. fh]puq;fh Njrpa g+q;fh 
c. godp Fd;Wfs;   d. ,e;jpuhfhe;jp tdtpyq;F ruzhyak; 
e. tpil njhpatpy;iy 
 

176. Match the following 
National Park    Place 
A. Mahatma Gandhi   1. Chattisgarh 
B. Satpura    2. Jammu and Kashmir 
C. Guru Ghasidas   3. Madhya Pradesh 
D. Dachigam    4. Andaman and Nicobar 
 A B C D 
a. 1 2 3 4 
b. 2 3 1 4 
c. 3 4 1 2 
d. 4 3 1 2 
e. Answer not known 
nghUj;Jf 
Njrpa g+q;fh    ,lk; 
A. kfhj;kh fhe;jp   1. rj;jP];fh; 
B. rhj;Guh    2. [k;K fh~;kPh; 
C. FU fhrpjh];   3. kj;jpag;gpuNjrk; 
D. lr;rpfk;    4. me;jkhd; kw;Wk; epf;Nfhgh; 
 A B C D 
a. 1 2 3 4 
b. 2 3 1 4 
c. 3 4 1 2 
d. 4 3 1 2 
e. tpil njhpatpy;iy 
 

177. Choose the incorrectly matched pair? 
a. July 12  – Malala Day 
b. August 12  – International Youth Day 
c. September 21 – World Tourism Day 
d. October 11 - International Girl Child Day 
e. Answer not known 
jtwhfg; nghUe;jpa ,iziaj; Njh;e;njL 
a. [{iy 12 - kyhyh jpdk; 
b. Mf];l; 12 - rh;tNjr ,isQh; jpdk; 
c. nrg;lk;gh; 21 - cyf Rw;Wyh jpdk; 
d. mf;Nlhgh; 11 - rh;tNjr ngz;Foe;ijfs; jpdk; 
e. tpil njhpatpy;iy 
 

178. The World Water Day was first observed in the year 
a. 1972  b. 1970 c. 1992  d. 1993 d. Answer not known 
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cyf jz;zPh; jpdk; Kjd; Kjypy; mDrhpf;fg;gl;l Mz;L 
a. 1972  b. 1970 c. 1992  c. 1993  e. tpil njhpatpy;iy 
 

179. Who was the first recipient of Padma Vibhushan? 
a. Zahir Hussain  b. Charan Singh  c. Nandalal Bose 
d. Satyendranath Bose  e. Answer not known 
gj;k tpg+~d; tpUJ ngw;w Kjy; egh; ahh;? 
a. [hfph; `_ird;  b. ruz; rpq;   c. ee;jyhy; Ngh]; 
d. re;Nae;jpuehj; Ngh];  e. tpil njhpatpy;iy 
 

180. Match the following 
nghUj;Jf 
A. TTDC   1. 1957 
B. TNEB   2. 1971 
C. TRANSTAN  3. 1976 
D. TANCEM  4. 2014 
 A B C D 
a. 1 2 4 3 
b. 2 1 3 4 
c. 2 1 4 3 
d. 1 3 4 2 
e. Answer not known / tpil njhpatpy;iy 
 

181. Match the following 
A. World Forest Day  1. September 16 
B. Earth Day   2. March 3 
C. World Biodiversity Day 3. March 21 
D. World Wildlife Day  4. April 22 
E. International Ozone Day 5. May 22 
 A B C D E 
a. 5 4 3 2 1 
b. 2 4 3 5 1 
c. 3 4 5 2 1 
d. 3 4 2 5 1 
e. Answer not known 
nghUj;Jf 
A. cyf td jpdk;   1. nrg;lk;gh; 16 
B. Gtp jpdk;    2. khh;r; 3 
C. cyf gy;Yaph; jpdk;  3. khh;r; 21 
D. cyf tdtpyq;F jpdk;  4. Vg;uy; 22 
E. rh;tNjr XNrhd; jpdk;  5. Nk 22 
 A B C D E 
a. 5 4 3 2 1 
b. 2 4 3 5 1 
c. 3 4 5 2 1 
d. 3 4 2 5 1 
e. tpil njhpatpy;iy 
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182. The Book “A Voice for Freedom” was written by 
a. Shashi Tharoor  b. Aung San Suu Kyi c. Nayantara Sahgal 
d. Man Mohan Singh  e. Answer not known 
“A Voice of Freedom” vd;w Gj;jfj;ij vOjpath; ahh;? 
a. rrp j&h;   b. Mq; rhd; # fp  c. ead;jhuh nrfy; 
d. kd;Nkhfd; rpq;  e. tpil njhpatpy;iy 
 

183. The first electric train of India „Deccan Queen‟ was run between 
a. Mumbai and Thane  b. Mumbai and Surat c. Kalyan and Pune 
d. Walaja and Rayapuram e. Answer not known 
,e;jpahtpd; Kjy; kpd;rhu njhlh;tz;bahdJ ________ ,ilNa ,af;fg;gl;lJ 
a. Kk;ig kw;Wk; jhNd  b. Kk;ig kw;Wk; #uj; c. fy;ahz; kw;Wk; g+Nd 
d. thyh[h kw;Wk; uhaGuk; e. tpil njhpatpy;iy 
 

184. Who was the recipient of Dr. Ambedkar Award for 2021? 
a. K. Thirunavukkarasu b. K. Chandru  c. S. Devaraj 
d. Arivumathi   e. Answer not known 
2021Mk; Mz;bw;fhd Dr. mk;Ngj;fh; tpUJ ngw;wth; ahh;? 
a. K. jpUehTf;fuR  b. K. re;JU   c. S. Njtuh[; 
d. mwpTkjp   e. tpil njhpatpy;iy 
 

185. Which of the following is an open and voluntary initiative to publish free versions 
of ancient Tamil Literature on the Internet? 
a. Project Tamil  b. Project Madurai  c. Tamil Internet Conference 
d. Project Sorkuvai e. Answer not known 
gpd;tUtdtw;Ws; ve;j xd;W jkpo; ,yf;fpaq;fis ,izaj;jpy; ,ytrkhf 
ntspapLk; xU jpwe;j jd;dhh;t cyfshtpa Kaw;rpahf cs;sJ? 
a. jkpo; jpl;lk;  b. kJiu jpl;lk;  c. jkpo; ,iza khehL 
d. nrhw;Fit jpl;lk; e. tpil njhpatpy;iy 
 

186. The Paithan Hydro Electic Project completed with the help of Japan is on the river 
of 
a. Krishna  b. Godavari   c. Mahanadi 
d. Sutlej   e. Answer not known 
[g;ghdpd; cjtpAld; Kbf;fg;gl;l igjhd; ePh;kpd;rhuj; jpl;lk; ______ ejpapy; 
mike;Js;sJ 
a. fpU~;zh  b. Nfhjhthp    c. kfhejp 
d. rl;ny[;  e. tpil njhpatpy;iy 
 

187. Who has been awarded Abel Prize for 2022? 
a. Jean Pierre  b. Srinivasa Varadhan  c. Laszlo Lovasz 
d. Dennis Sullivan e. Answer not known 
2022Mk; Mz;bw;fhd Vngy; ghpR ahUf;F mspf;fg;gl;lJ? 
a. [Pd; gpah;  b. =dpthr tujd;   c. yh];Nyh Nyhth]; 
d. nld;dp]; ry;yptd; e. tpil njhpatpy;iy 
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188. Which Indian – born economist is to be appointed as the first Deputy Managing 
Director of IMF? 
a. Raghuram Rajan  b. Rishi Sunak  c. Gita Gopinath 
d. Abhijit Banerjee  e. Answer not known 
IMF mikg;gpd; Jiz eph;thf ,af;Feuhf epakpf;fg;gl;l ,e;jpahtpy; gpwe;j 
nghUshjhu epGzh; ahh;? 
a. uFuhk; uh[d;   b. hp~p Rdhf;  c. fPjh Nfhgpehj; 
d. mgp[pj; Ngdh;[p  e. tpil njhpatpy;iy 
 

189. Which of the following section of Railways has completed 100% electrification 
across the zone? 
a. Konkan Railway  b. Eastern Railway  c. Central Railway 
d. Southern Railway  e. Answer not known 
gpd;tUtdtw;Ws; uapy;Ntapd; ve;jg;gphpT kz;lyk; KOtJk; 100% 
kpd;kakhf;fiy epiwT nra;Js;sJ? 
a. nfhq;fd; uapy;Nt  b. fpof;F uapy;Nt  c. kj;jpa ,uapy;Nt 
d. njw;F uapy;Nt  e. tpil njhpatpy;iy 
 

190. Choose the incorrectly matched pair 
a. Fruit bowl of India  - Himachal Pradesh 
b. Sugarbowl of India  - Uttar Pradesh 
c. Paradise on Earth  - Jammu and Kashmir 
d. God‟s Own Country - Karnataka 
e. Answer not known 
jtwhfg; nghUe;jpa ,iziaj; Njh;e;njL 
a. ,e;jpahtpd; gof;fpz;zk;  - ,khr;ryg;gpuNjrk; 
b. ,e;jpahtpd; rh;f;fiuf; fpz;zk; - cj;jpug;gpuNjrk; 
c. G+kpapd; nrhf;fk;   - [k;K kw;Wk; fh~;kPh; 
d. flTspd; nrhe;j ehL  - fh;ehlfk; 
e. tpil njhpatpy;iy 

 
191. Which of the following tribal group belongs to Andaman & Nicobar Island? 

a. Sentineles   b. Jarawa   c. Shompens 
d. All of these   e. Answer not known 
gpd;tUtdtw;Ws; me;jkhd; kw;Wk; epf;Nfhghh; jPitr; Nrh;e;j goq;Fbapdh; ,dk; 
vJ? 
a. nrd;bndy;];   b. [uth   c. ~hk;ngd;]; 
d. Nkw;$wpa midj;Jk; e. tpil njhpatpy;iy 
 

192. Which is called as the Manchester of North India? 
a. Ahamadabad   b. Mumbai   c. Kanpur 
d. Jaisalmar   e. Answer not known 
tl ,e;jpahtpd; khd;nr];lh; vd;W miof;fg;gLtJ vJ? 
a. mfkjhghj;   b. Kk;ig   c. fhd;g+h; 
d. n[a;ry;kh;   e. tpil njhpatpy;iy 
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193. Which of the following is the Head Quarter of 18th Railway zone of India? 
a. Hyderabad   b. Bangalore   c. Vishakapattinam 
d. Ahamadabad   e. Answer not known 
gpd;tUtdtw;Ws; ,e;jpahtpd; 18tJ uapy;Nt kz;lyj;jpd; jiyikaplk; vq;F 
mike;Js;sJ? 
a. i`juhghj;   b. ngq;f@h;   c. tprhfg;gl;bdk; 
d. mfkjhghj;   e. tpil njhpatpy;iy 
 

194. Which is the first Ramsar Wetland of India? 
a. Chilika Lake   b. Wular Lake  c. Sundarbans 
d. Gulf of Khambat  e. Answer not known 
,e;jpahtpd; Kjy; uhk;rh; <uepyk; vJ? 
a. rpypf;fh Vhp   b. Cyh; Vhp   c. Re;jh;gd;]; 
d. fhk;Ng tisFlh  e. tpil njhpatpy;iy 
 

195. Choose the correctly matched pairs 
I. Highest peak of Tamilnadu – Doddabetta 
II. Highest Point of Maharashtra – Kalsubai 
III. Highest peak of Andhra Pradesh – Arma Konda 
IV. Highest Peak of Karnataka – Mullayanagari 

a. I, II only   b. I, III, IV only   c. I, II, III only 
d. All of these   e. Answer not known 
rhpahfg; nghUe;jpa ,iziaj; Njh;e;njL 
I. jkpo;ehl;bd; cah;e;j rpfuk;  - njhl;lngl;lh 
II. kfhuh~;buj;jpd; cah;e;j rpfuk; - fhy;Rit 
III. Me;jpug;gpuNjrj;jpd; cah;e;j rpfuk; - mh;khnfhz;lh 
IV. fh;ehlfj;jpd; cah;e;j rpfuk;  - Ky;iyaefhp 
a. I, II kl;Lk;   b. I, III, IV kl;Lk;   c. I, II, III kl;Lk; 
d. Nkw;$wpa midj;Jk; e. tpil njhpatpy;iy 

 
196. Find the LCM of  p2 – 3p + 2, p2 – 4 

 a. (p - 2)(p + 2)(p - 1)   b.  (p + 2)(p - 1)   
 c. (p - 2) (p - 1)(p + 1)   d. (p - 2)(p + 2) 
 e. Answer not known 
 kP.ngh.k. fhz;f: p2 – 3p + 2, p2 – 4 
 a. (p - 2)(p + 2)(p - 1)   b.  (p + 2)(p - 1)   
 c. (p - 2) (p - 1)(p + 1)   d. (p - 2)(p + 2) 
 e. tpil njhpatpy;iy 
 

197. Three men, four women and six children can complete a work in seven days. A 
woman does double the work a man does and a children does half the work of 
a man. How many women alone can complete this work in 7 days? 
a. 7      b. 8  c. 6  d. 9  e. Answer not known 
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xU Ntiyia 3 Mz;fSk; 4 ngz;fSk; kw;Wk; 6 rpWth;fSk; Nrh;e;J 7 
ehl;fspy; nra;J Kbf;fpd;whh;fs;. xU ngz; Miz tpl ,Uklq;F nra;fpwhs;. 
xU rpWtd; Mzpd; ghjpNtiyia nra;fpwhh;;. me;j Ntiyia ngz;fs; kl;Lk; 
7 ehs; nra;fpwhh;fs; vd;why;> vj;jid ngz;fs; me;j Ntiyia nra;thh;fs;? 
a. 7      b. 8  c. 6  d. 9 e. tpil njhpatpy;iy 

 
198. The percentage of 10 minutes in one hour is 

a. 16
2

3
%  b.16 

1

3
%    c. 16%   

d. 17%   e. Answer not known 
xU kzpapy; 10 epkplq;fspd; rjtPjk; vd;gJ 

a. 16
2

3
%  b.16 

1

3
%    c. 16%   

d. 17%   e. tpil njhpatpy;iy 
 

199. If the ratio of the sides of two cubes are 2:3, then ratio of their lateral surface 
areas will be  

 a. 4:6    b. 4:9      c. 6:9    
d. 16:36  e. Answer not known  
,U fdr;rJuq;fspd; gf;fq;fspd; tpfpjkhdJ 2:3 vdpy; mjd; gf;f gug;Gfspd; 
tpfpjk; fhz;f 

 a. 4:6    b. 4:9      c. 6:9     
d. 16:36  e. tpil njhpatpy;iy 

 
200. If Ramya needs Rs.9, 00,000 after ten years, how much should she invest in a 

bank pays 20% simple interest? 
a. Rs. 2,00,000 b. Rs. 3,00,000   c. Rs. 4,00,000  
d. Rs.5,00,000  e. Answer not known 
gj;J Mz;bw;Fg; gpwF uk;ahtpw;F &.9>00>000 Njitg;gLfpwJ vdpy; Mz;bw;F 
20% jdptl;b mspf;Fk; tq;fpapy;> uk;ah vt;tsT mryhf nrYj;j Ntz;Lk;? 
a. Rs. 2,00,000 b. Rs. 3,00,000   c. Rs. 4,00,000  
d. Rs.5,00,000  e. tpil njhpatpy;iy 


